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BOOKS - TARGET CHEMISTRY (HINGLISH)

ALCOHOLS, PHENOLS AND ETHERS

Classical Thinking

1. obtained from oil of peppermint is used to flavour tobacco

and food.

A. Citronellol

B. Cholesterol

C. Menthol

D. Retinol


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6ZkTHh7mhvpd

Answer: C

o Watch Video Solution

2.In hydroxyl derivatives of hydrocarbon, hydrogen atoms are replaced

by group
A—X
B.—-CN
C.—-OH
D.—O —

Answer: C

o Watch Video Solution

3. Alcohols which have two hydroxyl (-OH) groups are called


https://dl.doubtnut.com/l/_6ZkTHh7mhvpd
https://dl.doubtnut.com/l/_2JP59kZsP2zd
https://dl.doubtnut.com/l/_bSiGvFNI160C

A. glycols

B. gemdiols

C.dianes

D. dimers

Answer: A

o Watch Video Solution

4. Which of the following is dihydric alcohol ?

A. Glycerol

B. Ethylene glycol

C. Catechol

D. Resorcinol

Answer: B

[ &


https://dl.doubtnut.com/l/_bSiGvFNI160C
https://dl.doubtnut.com/l/_KfVUGx4S3UeJ

| W Watch Video Solution

5. Glycerol is a

A. primary alcohol

B. monohydric alcohol

C. secondary alcohol

D. trihydric alcohol

Answer: D

o Watch Video Solution

6. Glycerine has

A. one primary and two secondary -OH groups

B. one secondary and two primary -OH groups

C. three primary -OH groups


https://dl.doubtnut.com/l/_KfVUGx4S3UeJ
https://dl.doubtnut.com/l/_gutfMorNK2KS
https://dl.doubtnut.com/l/_BE8WOPVufDuI

D. three secondary -OH groups

Answer: B

o Watch Video Solution

7.—CH,OH is the functional group of

A. primary alcohol

B. secondary alcohols

C. tertiary alcohols

D. quaternary alcohols

Answer: A

o Watch Video Solution

8. Which of the following is ane example for primary alcohols ?


https://dl.doubtnut.com/l/_BE8WOPVufDuI
https://dl.doubtnut.com/l/_sFJ3dueJbDO7
https://dl.doubtnut.com/l/_TNGzD8aOfym2

A. Propan-2-ol

B. Pentan-1-ol

C. Butan-2-ol

D. 4,5-Dimethylhexan-3-ol

Answer: B

o Watch Video Solution

9. Which of the following is a secondary alcohol ?

A. Ethyl alcohol

B. Isopropyl alcohol

C. Methyl alcohol

D. n-Propyl alcohol

Answer: B

[ &


https://dl.doubtnut.com/l/_TNGzD8aOfym2
https://dl.doubtnut.com/l/_4pFiiGI0jCFu

| W Watch Video Solution

10. Cyclohexanol is a alcohol.

A. primary

B. secondary

C. tertiary

D. allylic

Answer: B

o Watch Video Solution

11. Tertiary alcohols among the following is

A. Pentan-3-ol

B. Propan-1,2,3-triol

C. 2-Methylbutan-2-ol



https://dl.doubtnut.com/l/_4pFiiGI0jCFu
https://dl.doubtnut.com/l/_A6JZcXo8D7oA
https://dl.doubtnut.com/l/_hrdtLiJRywMH

D. 4,5-Dimethylhexan-3-ol

Answer: C

o Watch Video Solution

12. The IUPAC name of give compound is

CH; — |C’H—C’H2—C’H3

OH

A. Butanol
B. Butan-2-ol
C. Butan-3-ol

D. Butan-1-ol

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hrdtLiJRywMH
https://dl.doubtnut.com/l/_wK9OC6zJAJyo
https://dl.doubtnut.com/l/_Tu6ztXFZp5TV

13. IUPAC name of the compound

H3C — |C’H—C’H2—CHOH—CH3 is

C2Hs

A. 4-Methylhexan-3-ol

B. Heptanol

C. 4-Methylhexan-2-ol

D. 4-Ethylpentan-2-ol

Answer: C

o Watch Video Solution

14. 2-Ethylbutan-1-ol is

A. CHgCHQCH(CHg)CHQOH
B. CHg(CHg)CH — CHy — CHy — OH

C. (02H5)20HCH20H


https://dl.doubtnut.com/l/_Tu6ztXFZp5TV
https://dl.doubtnut.com/l/_uNS2wXWlGEAV

D.(CH;),C — OH

Answer: C

o Watch Video Solution

15. Which of the following represents isobutyl alcohol ?

CH;

A.CH; — & —om
ot

8.CHy ~ C H ~ CH0H
CH;

C.CH; — CH, — C H - OH

o

D.CHs; — C H — CH, — CHs

o

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uNS2wXWlGEAV
https://dl.doubtnut.com/l/_Alq3EnYZdvwa
https://dl.doubtnut.com/l/_YBj5WwRYFdGw

16. IUPAC name of HO — CHy — CHOH — CH>OH is

A. Glycerol

B. Glycerine

C. Propan-1,2,3-triol

D. Propan-3-ol

Answer: C

o Watch Video Solution

17. An alkyl iodide on refluxing with aqueous KOH solutions gives

isopropyl alcohol. The structure of alkyl iodide can be

A.CH3CH>CH>I
B.CH3CHICH;
C.ICH,CH>CH>I

D.ICH,CHICH-,I


https://dl.doubtnut.com/l/_YBj5WwRYFdGw
https://dl.doubtnut.com/l/_2mzavUqflqNI

Answer: B

o Watch Video Solution

18. An organic compound on treatment with conc. Sulphuric acid, gives
an intermediate compound, which on further hydrolysis gives

isopropanol. The organic compound is and the process is

called

A.CH;CH,CHs, elimination

B. CH;CH,C H3, dehydration

C.CH3;CH = CH,, substitution

D.CH, = CHCHgj, hydration

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2mzavUqflqNI
https://dl.doubtnut.com/l/_xkK8AdGMdRST
https://dl.doubtnut.com/l/_ZHeHe2FTGD6H

19. Acetaldehyde with sodium amalgam in water gives

A. ethanol

B. methanol

C. 1,2-ethanediol

D. acetone

Answer: A

o Watch Video Solution

20. Which reagent can convert accetic acid into ethanol?

A.Sn/HCI
B.Hy /Pt
C.LiAlH,/ ether

D. Na/ alcohol


https://dl.doubtnut.com/l/_ZHeHe2FTGD6H
https://dl.doubtnut.com/l/_H4Bzifznd7LY

Answer: C

o Watch Video Solution

21. To prepare propan-2-ol from methyl magnesium bromide , the other

reagent requird is

A.HCHO

B. CH;CHO

C.CoH,OH

D. CH;COCH,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_H4Bzifznd7LY
https://dl.doubtnut.com/l/_uOnpJQoIh3Fu

22. HCHO on reaction with 'A" followed by hydrolysis gives

CH3CH20H2OH Ais o

B. 02H5MgI

C.Na — Hg + H,0

D. H,, Ni, 413K

Answer: B

o Watch Video Solution

23. When ketones are treated with Grignard reagent followed by

hydrolysis with dilute acid, the product obtained is

A. primary alcohol

B. secondary alcohols


https://dl.doubtnut.com/l/_dD8DzfuTgkRH
https://dl.doubtnut.com/l/_8GHIxNNZe9Il

C. tertiary alcohols

D. quaternary alcohols

Answer: C

o Watch Video Solution

24. Alcohols can be prepared by

A. alkaline hydrolysis of alkyl halide

B. treatment of olefin with conc. H, SOy, followed by hydrolysis

C. reduction of carbonyl compounds

D. all of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8GHIxNNZe9Il
https://dl.doubtnut.com/l/_0WHla7w8AZsG

25.The oxygen atom in R-OH is hybridised .

Answer: C

o Watch Video Solution

26. Which of the following alcohols is least soluble in water ?

A CH;0H

B.CsH,OH

C.Cy,HsOH

D. CGH13OH


https://dl.doubtnut.com/l/_8FbREJVjpyED
https://dl.doubtnut.com/l/_RX61nhOsBZk4

Answer: D

o Watch Video Solution

27. Which of the following is most viscous liquid ?

A. Ethyl alcohol

B. Glycerol

C. Ethylene glycol

D. Water

Answer: B

o Watch Video Solution

28. Lower alcohols are miscible with water because of the fact that


https://dl.doubtnut.com/l/_RX61nhOsBZk4
https://dl.doubtnut.com/l/_Tl4Yzis7QMbD
https://dl.doubtnut.com/l/_xtaQTp50dJSW

A. alcohols undergo solvolysis with water molecules

B. alcohols undergo intermolecular hydrogen bonding with water

C. alcohols undergo intramolecular hydrogen bonding with water

D. alcohols undergo reduction with water molecule

Answer: B

o Watch Video Solution

29. Sodium ethoxide is obtained by the reaction of ethyl alcohol with

A. sodium hydroxide

B. sodium bicarbonate

C.sodium chloride

D. sodium metal


https://dl.doubtnut.com/l/_xtaQTp50dJSW
https://dl.doubtnut.com/l/_BADs9B33qf2C

Answer: D

o Watch Video Solution

30. Alcohol is an organic compound which reacts with an organic acid

to give an

A. ether

B. ester

C. alkene

D. aldehyde

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BADs9B33qf2C
https://dl.doubtnut.com/l/_N44RY8gEF6nM

31. Methyl alcohol reacts with acetyl chloride in the presence of conc.

H,50,to give

A. ethyl acetate

B. chloromethane

C. acetaldehyde

D. methyl acetate

Answer: D

o Watch Video Solution

32.For the reaction CoHsOH +~ HX — CyHs X + H50

The order of reactivity of halogen acids is

A .HCl > HBr > HI

B.HBr > HI > HCI


https://dl.doubtnut.com/l/_37vhKK2L0yPN
https://dl.doubtnut.com/l/_ZPBvjKyQbWhs

C.HI > HCl > HBr

D.HI > HBr > HCI

Answer: D

° Watch Video Solution

33. Which of the following alcohols is most reactive with HCl in the
presence of ZnCly?

A.(CH;),COH

B.(CH;),CHCH,OH

C.(CH;3),CHOH

D.CH;0H

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZPBvjKyQbWhs
https://dl.doubtnut.com/l/_gHno5A6ZKGOZ

34. Formation of but-2-ene as major product by dehydration of butan-2-

ol is according to

A. Markownikoff's rule

B. Saytzeff rule

C. Steric effect

D. Anti-Markownikoff's rule

Answer: B

o Watch Video Solution

35. Which one of the following alcohols undergoes acid-catalysed

dehydration to alkenes most readily ?

A (CH;),CHCH,OH

B. (CH;),COH


https://dl.doubtnut.com/l/_kpR6PPyYzfFt
https://dl.doubtnut.com/l/_AjxGzSXau55h

C. CH;CHOHCH,

D. CH;CH,CH,OH

Answer: B

o Watch Video Solution

36. Ethanol when passed over Al,O3 at 623 K gives

A. diethyl ether

B. ethane

C. butane

D. ethylene

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AjxGzSXau55h
https://dl.doubtnut.com/l/_8tfXQ26soJPv

Cl ale. KO
37. CH;CH,CH,OH ~25 X “ X% v where vis

A. propane

B. propanol

C. propene

D. propyne

Answer: C

o Watch Video Solution

38. The first product of oxidation of a primary alcohol is

A. alkene

B. aldehyde

C. ketone

D. carboxylic acid


https://dl.doubtnut.com/l/_DjQljRRUSIsX
https://dl.doubtnut.com/l/_3t1hTDTpGiiF

Answer: B

o Watch Video Solution

39. Methanol on oxidation with acidified K,Cr,0; gives the product

A. acetaldehyde

B. formic acid

C. acetic acid

D. acetone

Answer: B

o Watch Video Solution

40. Propan-2-ol on oxidation first forms ketones with



https://dl.doubtnut.com/l/_3t1hTDTpGiiF
https://dl.doubtnut.com/l/_WErhhhidC1Pq
https://dl.doubtnut.com/l/_YJtUZ6wLAjyE

A. same number of carbon atoms

B. one carbon atom lesss

C. two carbon atom less

D. two carbon atoms

Answer: A

o Watch Video Solution

41. Which alcohol is difficult to oxidise ?

A. Methanol

B. Butan-1-ol

C. Propan-2-ol

D. 2-Methylpropan-2-ol

Answer: D

[ &


https://dl.doubtnut.com/l/_YJtUZ6wLAjyE
https://dl.doubtnut.com/l/_gsaTWbgwltEu

[ W Watch Video Solution

42. Tertiary alcohols are difficult to oxidise as

A. there is no hydrogen atom attached to functional carbon

B. strong oxidising agents are not available

C. they have three alkyl groups

D. their structure shows steric hindrance

Answer: A

o Watch Video Solution

43. Oxidation of alcohols depends upon

A. number of carbon atom of alcohol

B. — OH group of alcohols

C. number of hydrogen atoms attached to alcoholic carbon


https://dl.doubtnut.com/l/_gsaTWbgwltEu
https://dl.doubtnut.com/l/_RRWdgX3O3uB9
https://dl.doubtnut.com/l/_l562zxxXpBN3

D. hydrogen bonding in alcohol

Answer: C

o Watch Video Solution

44, Ethanol is used

A. in the manufacture of chloroform

B. as a fuel in spirit lamps

C. as a main constituent of alcoholic beverages

D. in/as all of these

Answer: D

o Watch Video Solution

45, Alcohol CANNOT be used in the manufacture of


https://dl.doubtnut.com/l/_l562zxxXpBN3
https://dl.doubtnut.com/l/_fX3fA1ZNnITD
https://dl.doubtnut.com/l/_vWwDyXj6I85c

A. chloral

B. chloroform

C.benzene

D. acetaldehyde

Answer: C

o Watch Video Solution

46. is used to denature ethanol.

A. Methanol

B. Propanol

C. Acetic acid

D. acetaldehyde

Answer: A

[ &


https://dl.doubtnut.com/l/_vWwDyXj6I85c
https://dl.doubtnut.com/l/_LJ1eYEPA53lp

| @ Watch Video Solution ]

47. is used as the starting material for the preparation of

iodoform .

A. Methyl alcohol

B. Ethyl alcohol

C. n-Propyl alcohol

D. n-Butyl alcohol

Answer: B

o Watch Video Solution

48. is isolated from defensive secretion of a species of

grasshopper.

A. Glycerol


https://dl.doubtnut.com/l/_LJ1eYEPA53lp
https://dl.doubtnut.com/l/_8XMr0eFlfgzK
https://dl.doubtnut.com/l/_OwmWLNPTKugP

B. Thymol

C. Bombykol

D. Sorbitol.

Answer: B

o Watch Video Solution

49. Ortho-dihydroxy benzene is :

A. carvacrol

B. Resorcinol

C. catechol

D. orcinol

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_OwmWLNPTKugP
https://dl.doubtnut.com/l/_j6oKQMzWfoOU

50. Which of the following Resorcinol ?

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pFI1d5Vg53Aq
https://dl.doubtnut.com/l/_klERZlFhgeje

51.1, 2, 3 — trihydroxybenzene is also known as

A. pyrogallol

B. phloroglucinol

C. resorcinol

D. quinol

Answer: A

o Watch Video Solution

52. Example of trihydric phenol is

A. catechol

B. Resorcinol

C. hydroquinone

D. phloroglucinol


https://dl.doubtnut.com/l/_klERZlFhgeje
https://dl.doubtnut.com/l/_LlK68KLyGXLL

Answer: D

o Watch Video Solution

53. The hybrid state of carbon to which phenolic group is attached in

phenol is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LlK68KLyGXLL
https://dl.doubtnut.com/l/_D2wHqVRkSiVH

54. Chlorobenzene on heating with NaOH at 350° C' under pressure

gives

A. phenol

B. sodium phenoxide

C. benzaldehyde

D. benzyl alcohol

Answer: B

o Watch Video Solution

55. Which of the following is Dow's reaction ?

A (A) (7]@ SENCHOLHOUERN @OH

(©) OHC @ Conc.NaOH
C @ CH,OH + @— COONa


https://dl.doubtnut.com/l/_RGpJj2JzXeCK
https://dl.doubtnut.com/l/_mldA72QmepaY

D (D) @—()Na‘—ﬂ;‘%@ou

Answer: B

o Watch Video Solution

56.In Raschig method, chlorobenzene is converted to phenol by

A. catalytic oxidation

B. catalytic reduction

C. catalytic hydrolysis

D. acidification

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mldA72QmepaY
https://dl.doubtnut.com/l/_EVIMKgmXiPfM

57.In the Rasching process for the manufacture of phenol, the catalyst

being used as __

A. anhydrous AlCl;

B. cobalt naphthenate

D. 570,

Answer: D

o Watch Video Solution

58.In Both Dow's proces of Raschig's processes for the manufacture of

A. conversion of bezene to phenol is involved

B. conversion of chlorobenzene to phenol is involved


https://dl.doubtnut.com/l/_N94EYcLrGH9J
https://dl.doubtnut.com/l/_v3yr9NgSCGJZ

C. conversion of benzene sulphonic acid to phenol is involved

D. conversion of toluene to phenol is involved

Answer: B

o Watch Video Solution

59. Which is the commercial method for the manufacture of phenol ?

A. Cumene process

B. From benzene sulphonic acid

C. Raschig's process

D. Dow's process

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_v3yr9NgSCGJZ
https://dl.doubtnut.com/l/_6hXJi8Mxn3WB

60. In the manufacture of phenol from isopropyl benzene , the

important by-product obtained is

A. toluene
B. acetone
C. ethanol

D. acetaldehyde

Answer: B

o Watch Video Solution

61. Conversion of diazonium salt to phenol involves

A. alkaline hydrolysis
B. decomposition

C. acidic hydrolysis


https://dl.doubtnut.com/l/_I4xDMPdNZP2S
https://dl.doubtnut.com/l/_A772fEeF1q5A

D. hydration

Answer: C

o Watch Video Solution

62. Phenol at 25°C'is

A. a colourless crystalline solid

B. a transparent liquid

C.agas

D. yellow solution

Answer: A

o Watch Video Solution

63. Phenol has nature and is



https://dl.doubtnut.com/l/_A772fEeF1q5A
https://dl.doubtnut.com/l/_S82fegcmGo3T
https://dl.doubtnut.com/l/_UdJdAXNWu3oy

A. hydroscopic, easily soluble

B. hydroscopic, sparingly soluble

C. hydrophilic, highly soluble

D. hygroscopic, highly soluble

Answer: B

o Watch Video Solution

64. Phenol easily dissolves in

A. ether

B. ethanol

C. water

D.Both A and B

Answer: D

[ &


https://dl.doubtnut.com/l/_UdJdAXNWu3oy
https://dl.doubtnut.com/l/_hdF2eODFUbdf

[ W Watch Video Solution

65. Which of the following statements is NOT TRUE ?

A. Pure phenol is a colourless crystalline solid.

B. Phenol has a melting point of 315 K.

C. Phenol has a boiling point of 273 K

D. Phenol turns pink on exposure to air.

Answer: C

o Watch Video Solution

66. The acidic character of phenol is due to

A. greater resonance stabilization of phenoxide ion over phenol.

B. greater resosnance stabilization of phenol over phenoxide ion.

C. tautomerism occurring in phenol


https://dl.doubtnut.com/l/_hdF2eODFUbdf
https://dl.doubtnut.com/l/_znRIqd7ciTgG
https://dl.doubtnut.com/l/_AxPcOsHNUMh9

D. the fact that oxygen s more electronegative than hydrogen

Answer: A

o Watch Video Solution

67. Bromination of phenol in non-polar solvent forms

A. o-bromophenol

B. p-bromophenol

C. mixture of o and p-bromophenol

D. m-bromophenol

Answer: C

o Watch Video Solution

68. Phenol on treatment with bromine water gives


https://dl.doubtnut.com/l/_AxPcOsHNUMh9
https://dl.doubtnut.com/l/_Oo5RiG8BZuMb
https://dl.doubtnut.com/l/_pzEWC4ySX6Rb

A. o-bromophenol

B. p-bromophenol

C. a mixture of ortho and para bromophenol

D. 2,4,6-tribromophenol

Answer: D

o Watch Video Solution

69. Bromination of phenol , will NOT give

Alel

B. e

c.l&

D. s

Answer: B

[ &


https://dl.doubtnut.com/l/_pzEWC4ySX6Rb
https://dl.doubtnut.com/l/_3lrZuBoJS6ol

| @ View Text Solution

70. Nitration reaction of phenol is

A. aromatic nucleophilic substitution reaction

B. aromatic electrophilic substitution reaction

C. aromatic elimination reaction

D. aromatic addition reaction

Answer: B

o Watch Video Solution

.HNO
7.CHsOH 25" X. X is
H>50,

A. Benzene

B. Catechol

C. only p-Nitrophenol


https://dl.doubtnut.com/l/_3lrZuBoJS6ol
https://dl.doubtnut.com/l/_eG50Rxzgav82
https://dl.doubtnut.com/l/_KqFUOebZiQE8

D. 2,4,6-Trinitrophenol

Answer: D

o Watch Video Solution

72.0n sulhonation , phenol gives two products, ortho and para phenol

sulphonic acids . The variation in products depend upon the

A. concentration of sulphuric acid

B. change in temperature

C.change in pressure

D. change in volume

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KqFUOebZiQE8
https://dl.doubtnut.com/l/_t7kmXyd5jRbF

73. Dissolution of phenol is NaOH is represented as

A. 06H50H + NaOH — CﬁHg,ONCL + HzO + COQ

B. CGHE,OH + NaOH — CGHE,ON(J, + HQO

C. 06H50H + NaOH — C’6H5Na, + HQO + 02

D.CsHsOH + NaOH — C4H;OHNa + H,0

Answer: B

o Watch Video Solution

74. Which of the following reactions is Kolbe's reaction ?

A e

B. L

C. e,

D. e


https://dl.doubtnut.com/l/_5Lg9SkofNpNg
https://dl.doubtnut.com/l/_a5KuQgcmv4bF

Answer: A

o View Text Solution

75.Phenols can be distinguished from alcohols by

A. Neutral FeCl;

B. FeSO, solution

C. BaCl, solution

D. lodoform reaction

Answer: A

o Watch Video Solution

76. A common material used in the preparation of aspirin , plastic and

picric acid is


https://dl.doubtnut.com/l/_a5KuQgcmv4bF
https://dl.doubtnut.com/l/_VJ1FBo3mPlvg
https://dl.doubtnut.com/l/_LsotvO9Hkedn

A. methane

B. formic acid

C. phenol

D. alcohol

Answer: C

o Watch Video Solution

77. Ethers contain which of the following linkage ?

A-0—-C-0 —
B.H—-0O—-H
| |
C.-C-0-C-
| |
|
D—?—O—H
Answer: C

[ &


https://dl.doubtnut.com/l/_LsotvO9Hkedn
https://dl.doubtnut.com/l/_q1cbpc8P67uU

[ W Watch Video Solution

78. The general formula of aliphatic ethers is

A.C,H>,0

B. CH2, +10

C.CnHap 120

D.C,Hs,_20

Answer: C

o Watch Video Solution

79. The classification of ethers is carried out on the basis of

A. reactivity

B. solubility

C. alkyl groups attached to oxygen


https://dl.doubtnut.com/l/_q1cbpc8P67uU
https://dl.doubtnut.com/l/_mR6DTy55fbRT
https://dl.doubtnut.com/l/_gLyVVGCxv2Dj

D. inertness

Answer: C

o Watch Video Solution

80. Which of the following is alkoxy hydrocarbon ?

ACH; —O—-H

B.CH; — CO — CHj

C.CHs — O — CyH;5

D.CH; — COOH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gLyVVGCxv2Dj
https://dl.doubtnut.com/l/_mNjl1Ru8bSgm

81. Simple ether and mixed ether contains

respectively.

A.same and same

B. same and different

C. different and different

D. different and same

Answer: B

alkyl groups

o Watch Video Solution

82. An example for a mixed ether is

A.HsC — O — CH;

B. H;Cy — O — CH,CHj

C.H;C — O — CH, — CH;


https://dl.doubtnut.com/l/_lXRuqWn4DWKw
https://dl.doubtnut.com/l/_UW2mxHGTw4F1

D. (CH;),CH — O — CH(CH,),

Answer: C

o Watch Video Solution

83. Which among the following is a symmetrical ether ?

A. Diphenyl ether
B. Anisole
C. 2-Ethoxypropane

D. Methyl tert-butyl ether

Answer: A

o Watch Video Solution

84.Epoxides are


https://dl.doubtnut.com/l/_UW2mxHGTw4F1
https://dl.doubtnut.com/l/_7r24hXLteIVS
https://dl.doubtnut.com/l/_U9tfn2VLTeus

A. cyclic ethers

B. not ethers

C. arly-alkyl ethers

D. ether with another functional group

Answer: A

o Watch Video Solution

85. CH;CH,OCH,CH>CHjs in IUPAC is known as

A. 1-propoxyethane

B. 1-ethoxypropane

C. 3-ethoxypropane

D. 3-propoxyethane

Answer: B

[ &


https://dl.doubtnut.com/l/_U9tfn2VLTeus
https://dl.doubtnut.com/l/_YAQk1CBKlkWb

| W Watch Video Solution

CH,

|
86.IUPAC name of CH; — O — C His

|
CHs

A. 1-methoxypropane

B. 2-methoxypropane

C. 2-Ethoxypropane

D. Ethoxyethane

Answer: B

o Watch Video Solution

87.The common name of CgHy — O — CyHy is _

A. hexyl methyl ether

B. benzyl methyl ether



https://dl.doubtnut.com/l/_YAQk1CBKlkWb
https://dl.doubtnut.com/l/_4mngIoGQHu2h
https://dl.doubtnut.com/l/_TpWcNTodyhFu

C. ethyl phenyl ether

D. benzyl ethyl ether

Answer: C

o Watch Video Solution

88. The R-O-R bond angle in ether is

A.180°

B.120°

C.111.7°

D.104°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TpWcNTodyhFu
https://dl.doubtnut.com/l/_d3BD2keVFmqD

89.In ether , two C-O sigma bonds are formed by which overlap ?

A.sp — sp
B. sp2 — 3p2
C. sp2 — sp3
D. sp3 — sp3
Answer: D

o Watch Video Solution

90. Number of lone pairs and bond pairs present on oxygen atom in

water are respectively

A.1and 3

B.2and 2

C.2and1


https://dl.doubtnut.com/l/_mi6HrNqbzdpb
https://dl.doubtnut.com/l/_VMJgXV5lNaAS

D.1and 2

Answer: B

o Watch Video Solution

91. Metamers have

A. different functional group and same alkyl group
B. same functional group and alkyl group
C. same functional group and different alkyl groups

D. different functional group and alkyl groups

Answer: C

o Watch Video Solution

92. Diethyl ether is a metamer of


https://dl.doubtnut.com/l/_VMJgXV5lNaAS
https://dl.doubtnut.com/l/_yzV5YYEPuipY
https://dl.doubtnut.com/l/_OIjTqRdusQ60

A. methoxymethane

B. 1-ethoxypropane

C. T-methoxypropane

D. butan-2-ol

Answer: C

o Watch Video Solution

93. The functional isomer of propan-1-ol is

A. dimethyl ether

B. diethyl ether

C. ethoxymethane

D. methoxyethane

Answer: D

[ &


https://dl.doubtnut.com/l/_OIjTqRdusQ60
https://dl.doubtnut.com/l/_2XtjjAN9izxp

| W Watch Video Solution

94. The number of isomers obtained from the formula C3HgO is

Al

B.2

C.3

D.4

Answer: C

o Watch Video Solution

95. The preparation of ethers from alcohols by using sulphuric acid is

called as

A. Williamson's ether synthesis

B. continuous etherification process


https://dl.doubtnut.com/l/_2XtjjAN9izxp
https://dl.doubtnut.com/l/_1fdQQ5f4BXOs
https://dl.doubtnut.com/l/_vppGzALcfxgn

C. diazomethane method

D. Wurtz synthesis

Answer: B

o Watch Video Solution

96. From Williamson's synthesis preparation of which of the following is

possible ?

A. Symmtrical ether only

B. Unsymmetrical ether only

C. Symmetrical as well as unsymmetrical ethers

D. Symmetrical esters

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vppGzALcfxgn
https://dl.doubtnut.com/l/_5ml5VtBq5lz2

97.In the Williamson synthesis of ethers given by the general equation.

R— X+ R ONa —- R— 0O — R’ the order of reaction of RX is

A.CH; >1° > 2° > 3°

B.CH; < 1° <2° < 3°

C.CH; <1° <2° > 3°

D.CH; >1° < 2° < 3°

Answer: A

o Watch Video Solution

98. Anisole is obtained from phenol by reaction with

A.NaOH + CHCl,


https://dl.doubtnut.com/l/_E9yNYRngS4Jt
https://dl.doubtnut.com/l/_LNtYtK7HI63E

C. NaOH + CyHsI

D. NaOH + CO,

Answer: B

o Watch Video Solution

99. In the Williamson's synthesis for diethyl ether, which species workds

as a nucleophile-

A. Halide ion

B. Ethoxide ion

C. Ethyde ion

D. Hydride ion

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LNtYtK7HI63E
https://dl.doubtnut.com/l/_WgA34KZVDG4v

100. Propan-1-ol in the presence of H BF}, reacts with diazomethane to

A. di-n-propyl ether

B. dimethyl ether

C. 1-methoxypropane

D. 2-methoxypropane

Answer: C

o Watch Video Solution

101. In the reaction , alcohol+ diazomethane — ether +N,, the ether

CANNOT be

A. methyl ethyl ether

B. n-propyl methyl ether


https://dl.doubtnut.com/l/_fwJsB3irV5od
https://dl.doubtnut.com/l/_C96dMC18unWG

C. isopropyl methyl ether

D. diethyl ether

Answer: D

o Watch Video Solution

102. Which of the following is FALSE regarding diethyl ether ?

A. The oxygen atom contains one lone pair of electrons.

B. It is sparingly soluble in water

C.It is used as an inert medium for many organic reactions.

D. It is highly inflammable.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_C96dMC18unWG
https://dl.doubtnut.com/l/_uI3jR2HnLPd6

103. Ethyl methyl ether on treating with cold concentrated HI gives

A. CyH,OH

B. CH,I

C.CyHsI + CH;0H

D.CHsI + CoH;O0H

Answer: D

o Watch Video Solution

104. Dimethyl ether when heated with exces HI gives :

B. CH3I and HQO

C. CQHﬁ + CHgI a,nd CHgOH


https://dl.doubtnut.com/l/_ihnupjazaG1o
https://dl.doubtnut.com/l/_sd9gsqZufpHh

D.CH3I and HCHO

Answer: B

o Watch Video Solution

105. Ethers react with the formation of ethyl halide with halogen acids

in the order of reactivity as :

A.HI > HBr > HCI

B.HI > HCl > HBr

C.HCl > HBr > HI

D.HI < HBr < HCI

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sd9gsqZufpHh
https://dl.doubtnut.com/l/_j7MnApcVUfFZ

106. When methoxymethane is heated with dilute sulphuric acid under

pressure , the product obtained is

A. methane

B. methanol

C. methanal

D. iodomethane

Answer: B

o Watch Video Solution

107. On hydrolysis, mixed ethers give

A. one alcohol and one acid

B. one acid and one ester

C. two alcohols


https://dl.doubtnut.com/l/_WQ47GGmiITKO
https://dl.doubtnut.com/l/_pVdHtZVL5fAI

D. one alcohol and one alkyl halide

Answer: C

o Watch Video Solution

108. Ethers are used when the reaction medium required is

A. acidic

B. basic

C.inert

D. neutral

Answer: C

o Watch Video Solution

109. Which one of the following is NOT a used of diethyl ether ?


https://dl.doubtnut.com/l/_pVdHtZVL5fAI
https://dl.doubtnut.com/l/_xEXjH0beMzgX
https://dl.doubtnut.com/l/_AkWjsubyCtjD

A. As an anaesthetic.

B. As a refrigerant .

C. As an industrial solvent.

D. An an antiseptic .

Answer: D

o Watch Video Solution

110. Crown ether was discovered by

A. Charles Pederson

B. Grignard

C. Williamson

D. van't Hoff

Answer: A

[ &


https://dl.doubtnut.com/l/_AkWjsubyCtjD
https://dl.doubtnut.com/l/_7NpIJe9ZYads

| @ Watch Video Solution ]

111. The first crown ether which was developed synthetically is

A. 17-crown-6

B. 15-crown-6

C. 189-crown-6

D. 12-crown-6

Answer: C

o Watch Video Solution

112. Phenols and alcohols are respectively

A. neutral and basic

B. basic and acidic


https://dl.doubtnut.com/l/_7NpIJe9ZYads
https://dl.doubtnut.com/l/_gSR9hONrAbPN
https://dl.doubtnut.com/l/_neu7obFXrs1e

C. acidic and basic

D. acidic and neutral

Answer: D

o Watch Video Solution

113. Phenol and alcohol gives phenoxide and alkoxide respectively on

reaction with a metal . The metal is

A. Na

B.Zn

C. Mg

D. Mn

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_neu7obFXrs1e
https://dl.doubtnut.com/l/_zaexY4qprlHY

114. The number of 7-electrons present in phenol ring are

A4

B.6

C.8

D.10

Answer: B

o Watch Video Solution

hot HI
115. In the reaction , Ether L) A+ B+ H,O ,If A and B are

same, the ether

A.is simple
B. is mixed

C.is simple or mixed


https://dl.doubtnut.com/l/_wTQeZy36e32K
https://dl.doubtnut.com/l/_JygEQ6AdLhzY

D. cannot be predicted unless the nature of alkyl radicals is known

Answer: A

o Watch Video Solution

116. IUPAC name of vinyl alcohol is

A. ethanol

B. ethen-1-ol

C. but-1-en-1-ol

D. propen-1-ol

Answer: B

o Watch Video Solution

117. IUPAC name of resorcinol is


https://dl.doubtnut.com/l/_JygEQ6AdLhzY
https://dl.doubtnut.com/l/_qxgptwZ79Jgn
https://dl.doubtnut.com/l/_OXkvhdBCrexH

A. 1,2-dihydroxybenzene

B. 1,3-dihydroxybenzene

C. 1,4-dihydroxybenzene

D. 1,2,3-trihydroxybenzene

Answer: B

o Watch Video Solution

118. The CyHy; — O — C3H; and C4Hy — O — CHj3 are

A. enantiomers

B. geometrical isomers

C. metamers

D. functional isomers

Answer: C

[ &


https://dl.doubtnut.com/l/_OXkvhdBCrexH
https://dl.doubtnut.com/l/_s5kMX2smNmBG

| @ Watch Video Solution ]

119. Which one of the following reaction would produce secondary

alcohol?
o
[ i.CH3;MgBr
A.CeHs — C — CHy -—%%
i H*
o
[ . LiALH
B.C4H; — C — CH; ——5
i H*
. LiAlH
C.CH;CHO “=“=
i H+
0
| ;. OH -
D.CH; — C — CHy “—
ii.Bry
Answer: B

o Watch Video Solution

120. Sodium benzene sulphonate reacts with NaOH and then on acidic

hydrolysis, it gives:


https://dl.doubtnut.com/l/_s5kMX2smNmBG
https://dl.doubtnut.com/l/_AjtErZPeHJBD
https://dl.doubtnut.com/l/_0KTlDDIDBUpF

A. phenol

B. benzoic acid

C.benzene

D. disodium bezaldehyde

Answer: A

o Watch Video Solution

121. Which of the following does not form phenol or phenoxide ion ?

A.CgH;Cl

B.Ce HsCOOH

C. C¢H5N,Cl

D. 06H5SO3NCL

Answer: B

[ &


https://dl.doubtnut.com/l/_0KTlDDIDBUpF
https://dl.doubtnut.com/l/_EoLK7O5d5O5m

| W Watch Video Solution

122. Phenol is obtained by heating aqueous solution of :

A. aniline

B. benzenediazonium chloride

C. benzoic acid

D. acetic acid

Answer: B

o Watch Video Solution

123. Formation of di ethyl ether form ethanol is based on a

A. dehydration reaction

B. dehydrogenation reaction

C. hydrogenation reaction


https://dl.doubtnut.com/l/_EoLK7O5d5O5m
https://dl.doubtnut.com/l/_XcgufeAIM1UT
https://dl.doubtnut.com/l/_NLLALaIgOozW

D. heterolytic fission reaction

Answer: A

o Watch Video Solution

Critical Thinking

1. Wood polish mainly contains

A. methanol

B. ethanol

C. propanol

D. all of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NLLALaIgOozW
https://dl.doubtnut.com/l/_QiNP3irxUaQj

2. Monohydric alcohols are

A. monoalkyl derivatives of water

B. monoalkyl derivatives of ammonia

C. monoalkyl derivatives of alkanes

D. monoalkyl derivatives of hydroxy benzene

Answer: A

° Watch Video Solution

3. Which of the following compounds does NOT contain atleast two

primary carbon atoms and two primary alcoholic groups ?

A. Glycerol

B. Ethylene glycol

C. Sorbitol


https://dl.doubtnut.com/l/_oXi0w9Qrf1OT
https://dl.doubtnut.com/l/_MtEWIEsRpoQ2

D. n-Propyl alcohol

Answer: D

o Watch Video Solution

4.The characteristic grouping of secondary alcohol is

A=
B.—-CH,OH
c.
|
D.-C — OH
|
Answer: A

o Watch Video Solution

5. Monohydric alcohols are functional isomers of



https://dl.doubtnut.com/l/_MtEWIEsRpoQ2
https://dl.doubtnut.com/l/_g72PKHg4z96Y
https://dl.doubtnut.com/l/_zVvSsyR9f3gA

A. phenols

B. ethers

C. aldehydes

D. ketones

Answer: B

o Watch Video Solution

6. In alcohols , the -OH group is attached to a sp? hybridised

carbon atom.

A. allylic
B. benzylic
C. vinylic

D. all of these


https://dl.doubtnut.com/l/_zVvSsyR9f3gA
https://dl.doubtnut.com/l/_jzgwZOfdczlA

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jzgwZOfdczlA
https://dl.doubtnut.com/l/_FDP2HIYc5vPN

Answer: A

o Watch Video Solution

8.1UPAC name of neopentyl alcohol is

A. 2,2-diemthylpropan-1-ol

B. 2-methylbutan-2-ol

C. 1,1-dimethylpropan-1-ol

D. 2-Methylpropan-2-ol

Answer: A

o Watch Video Solution

9. The molecular formula of sorbitol is

A.HOCH, — CHOH — CH,OH


https://dl.doubtnut.com/l/_FDP2HIYc5vPN
https://dl.doubtnut.com/l/_8sjswWg4R87n
https://dl.doubtnut.com/l/_yN3J2SHpEdy6

8. HOCH, — (CHOH), — CH,OH
C. HOCH, — (CHOH), — CH,0H

D. HOCH, — (CHOH), — CH,OH

Answer: D

o Watch Video Solution

10. Ethylene glycol is prepared by the hydrolysis of

CH,Br
A |
CH,Br
CH - OH
B. ||

CHCl
CHO

C. |

CHO
CH,

D. ||
CH,

Answer: A


https://dl.doubtnut.com/l/_yN3J2SHpEdy6
https://dl.doubtnut.com/l/_FbLu9vhcONzS

o Watch Video Solution

11. To crazy out the conversion of unsaturated aldehyde to unsaturated
alcohol, which among the following will be the best reducing agent ?

A . LiAlH,

B. Na — Hg/H,0O

C.Zn/OH

D. Zn/dil. H,SO,

Answer: A

o Watch Video Solution

12. Which of the following reactions does NOT lead to formation of

ethanol ?

Hydrolysis

A. CH300002H5 —_—


https://dl.doubtnut.com/l/_FbLu9vhcONzS
https://dl.doubtnut.com/l/_spEgsgR1SHkn
https://dl.doubtnut.com/l/_0KJ4HTGhAYcd

8. CH,cOO0H 222

RaneyNi
D. CchHO + Hy ——
413K

Answer: C

o Watch Video Solution

13. Which of the following can give monohydric alcohols ?

A. Alkyl halides

B. Aldehydes

C. Alkenes

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0KJ4HTGhAYcd
https://dl.doubtnut.com/l/_uOqahpy4TXKE

14. The product 'C' in the following reaction is

dil . KCN
N

. H;O" LiAlH,
S|

> ’BI IC

7

CH3B’I‘

A.CH3CHO

B.CHsCH>;OH

C.CH3COCH;3

D.CH3COOH

Answer: C

o Watch Video Solution

15. Co Hs M gl reacts with HCHO to form last product :

A.CH3sCHO

B.C3H,OH

C.CH3COCHj;


https://dl.doubtnut.com/l/_j8zmb6ELGawz
https://dl.doubtnut.com/l/_PNJsS3PEVx5y

D.CyH;OH

Answer: B

o Watch Video Solution

CH;
| (i) CHsMgI
6.CH; — C =0 ————
(i) HyO

The product obtained in this reaction is

A.(CH,),C — OH
B.CHy; — CH, — CH, — CH, — OH

C.(CyHy),C — OH
CH3

|
D.CH3; — CH—-OH

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PNJsS3PEVx5y
https://dl.doubtnut.com/l/_hUaGGSGHRYXA
https://dl.doubtnut.com/l/_qCNS7EXdSPxO

17. A tertiary alcohol is obtained when Grignard reagent react with

A. pentan-2-one

B. butanone

C. propanone

D. all of these

Answer: D

o Watch Video Solution

18. The R-O-H bong angle in case of methanol is

A.90°

B.108.9°

C.109.28°

D. 180°


https://dl.doubtnut.com/l/_qCNS7EXdSPxO
https://dl.doubtnut.com/l/_WH8xhdsjFqDq

Answer: B

o Watch Video Solution

19. Least soluble alcohol in water is

Alsl

B. Lo

c.l&

D. s

Answer: D

o View Text Solution

20. Decreasing order of boiling points of n-Petanol (A), n-Pentane (B),

Pentan-3-0l(C) and 2,2-Dimethylpropanol (D) is


https://dl.doubtnut.com/l/_WH8xhdsjFqDq
https://dl.doubtnut.com/l/_yocHhd2cpJzV
https://dl.doubtnut.com/l/_432YRlkOAASv

A.ACD,B

B.B,D,C,A

C.CADB

D.AB,CD

Answer: A

o Watch Video Solution

21. Boiling point of CyH;OH is higher as compared to CoH5;SH on

account of

A. association

B. dissociation

C. low molecular mass

D. high molecular mass


https://dl.doubtnut.com/l/_432YRlkOAASv
https://dl.doubtnut.com/l/_N2V8Rx1G7R1V

Answer: A

° Watch Video Solution

22. The organic acids are weakly acidic while alcohols are neutral even

though both contain -OH group because

A. association of molecules takes place in alcohols

B. acids have much stronger hydrogen bonding

C. resonance stabilization carboxylate ion

D. of the -l effect of the alkyl group

Answer: C

o Watch Video Solution

23. CICH,CH,0H is stronger acid than CH3CH,OH because of :


https://dl.doubtnut.com/l/_N2V8Rx1G7R1V
https://dl.doubtnut.com/l/_V9D0yllagSfk
https://dl.doubtnut.com/l/_Wt4gCdVD5SZp

A. 4 I effect of Cl disperses -ve charge on O atom to produce more

stable anion

B. — I effect of Cl disperses -ve charge on O atom to produce more

stable anion

C. — I effect of Cl increase -ve charge on O atom of alcohol

D. + I effect of Cl increases -ve charge on O atom of alcohol

Answer: B

o Watch Video Solution

24.0n reacting with electropositive metal like Na, alcohols give sodium

alkoxides on liberates Hj. In this reaction alcohols behave as

A. weak acids
B. weak bases

C. neutral


https://dl.doubtnut.com/l/_Wt4gCdVD5SZp
https://dl.doubtnut.com/l/_14EtJ29mYUjp

D. strong acids

Answer: A

o Watch Video Solution

25. Alcohols are

A. weaker acid than water

B. stronger acids than water

C. amphoteric

D. acidic to litmus

Answer: A

o Watch Video Solution

26. An ester can be obtained by the reaction of ethanol with



https://dl.doubtnut.com/l/_14EtJ29mYUjp
https://dl.doubtnut.com/l/_Y14KqRgnevhS
https://dl.doubtnut.com/l/_OZXd3538LqRG

A. an aldehyde

B. an acid anhydride

C. an acid chloride

D. both B and C

Answer: D

o Watch Video Solution

27. Arrange the following alcohols in the increasing order of
esterification :

(a) sec -Butyl alcohol

(b) tert-Butyl alcohol

(c) n-Butyl alcohol

Ac>b>a

B.c>a>b


https://dl.doubtnut.com/l/_OZXd3538LqRG
https://dl.doubtnut.com/l/_yexdeVms11lh

Cb>b>c

D.b>a >c

Answer: B

o Watch Video Solution

28. When ethanol reacts with acetic acid in presence of H3S50y, the

product formed is an ester . Here the ethanol works as a/an

A. electron rich species

B. electron deficient species

C. electrophile

D. lewis acid

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yexdeVms11lh
https://dl.doubtnut.com/l/_yEr4GmFdmlX7

29. Which reagent among the following CANNOT be used to convert

alcohol to alkyl halide ?

A.Cl,

B. SOCI,

C. PBTg

D. HC! in the presence of ZnCl,

Answer: A

o Watch Video Solution

30. The order of reactivity of the following alcohols towards HCI is

OH

|
()F — CH, — CH — CH,

OH

|
(i) F — CH, — CH, — C H — CHj


https://dl.doubtnut.com/l/_r2Qnn5RQHBjR
https://dl.doubtnut.com/l/_L0jZFhiGfPad

OH

\
(iii) H3C — C H — CH;
(IV) H506 - CH2OH
A1 > 11 > 111 > 1w
B.7 > 411 > 11 > v
C.iv > 11t > 11 > 1

D.iv gt iii gt

Answer: C

o Watch Video Solution

31. Alkyl iodide can be obtained from alcohol using one of the following

reagents. Identify the reagents .

A.Red P, I2

B. conc. HNOs, Hi

C.conc. HCI, HI


https://dl.doubtnut.com/l/_L0jZFhiGfPad
https://dl.doubtnut.com/l/_oIDli93zjJza

D. ZnCly , HI

Answer: A

o Watch Video Solution

32. Which of the following alcohols does not give an aldehyde on

oxidation ?

A. Benzyl alcohol

B. sec-Butyl alcohol

C. Allyl alcohol

D. Crotyl alcohol

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oIDli93zjJza
https://dl.doubtnut.com/l/_ahpgrx5cqbdC

33. Choose the FALSE statement among the following .

A. Primary alcohol are finally oxidised to carboxylic acids.

B. Secondary alcohols are first oxidised to ketones .

C. Tetiary alcohols are easily oxidised in neutral medium.

D. Dil . HNOs, is an oxidising agent .

Answer: C

o Watch Video Solution

34. 2-Methylpropan-2-ol on oxidation under drastic condition gives

as the final product.

A. methanoic acid

B. ethanoic acid

C. propanoic acid


https://dl.doubtnut.com/l/_uc1GbjENq6DU
https://dl.doubtnut.com/l/_9XZf3bM1Togs

D. butanoic acid

Answer: B

o Watch Video Solution

A B
35.C;Hyg — C5H12,0 — CH3(CH,);CHO, A and B in the above

reactions are

A. conc. Hy SOy, hydrolysis , Na-Hg/H,0O
B.alc. KOH, K;Cry0; + dil. HySO,
C. cold conc. H, SO, (hydration),acidified KoCroO7 + dil. H5SO4

D. alc. KOH, Raney Ni

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9XZf3bM1Togs
https://dl.doubtnut.com/l/_QzJl9H2dpEN5

36. When vapours of an alcohol are passed over hot reduced copper, it

gices an alkene. The alcohol is

A. primary

B. secondary

C. tertiary

D. primary and secondary

Answer: C

o Watch Video Solution

37. On treating the organic compound with HIO, the products are

CH3;COCHj3 and HCHO. Hence the compound should be

A. (CH3)2|C - |CH — CH;
OH OH

B. CHy — C Hy
| |
OH OH


https://dl.doubtnut.com/l/_oIGh0C8IrBfb
https://dl.doubtnut.com/l/_7XLIrP4crIdn

C.(CH;), |O - |OH2

OH OH
D.CH3; — CH - CH - CH;
| |
OH OH

Answer: C

o Watch Video Solution

38. Ethanol is used in the preparation of

A.DDT

B. tincture iodine

C. pain killer medicines

D. benzene hexachloride

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7XLIrP4crIdn
https://dl.doubtnut.com/l/_IsN9W7ynUubp
https://dl.doubtnut.com/l/_EJ909NxPFUoE

39. Methyl alcohol is used

A. for dry cleaning

B. preparation of perfumes and varnishes

C. as an antifreeze agent for automobile radiators

D. in all of these

Answer: D

o Watch Video Solution

40. is used as an ingredient in mouth washes.

A. Methanol

B. Ethanol

C. Propanol

D. Butanol


https://dl.doubtnut.com/l/_EJ909NxPFUoE
https://dl.doubtnut.com/l/_xb9Z3xlwd0Rw

Answer: B

o Watch Video Solution

41. Phenol is a bifunctional compound because

A. it gives reactions of hydroxyl group (-OH) as well as of aromatic

ring

B. it is a strong acid

C.itis insoluble in NaOH

D. it is readily soluble in water

Answer: A

o Watch Video Solution

42. Phenols occur in


https://dl.doubtnut.com/l/_xb9Z3xlwd0Rw
https://dl.doubtnut.com/l/_8kaM6FIUU6Sg
https://dl.doubtnut.com/l/_CdvcCvC8vN9H

A. coal tar

B. wood tar

C. petroleum distillates

D. all of these

Answer: D

o Watch Video Solution

43. Systematic name of phenol is

A. Benzenol

B. cresol

C. carbinol

D. all of these

Answer: A

[ &


https://dl.doubtnut.com/l/_CdvcCvC8vN9H
https://dl.doubtnut.com/l/_FbhXNd2FoU4Q

| W Watch Video Solution

44.The compound BrCsH,OH is

A. o-bromophenol

B. bromophenol

C. m-bromophenol

D. p-bromophenol

Answer: B

o Watch Video Solution

45.C¢H;CH(CH3), in NOT known as

A.cumene
B. isopropyl benzene

C. 2-benzylpropane


https://dl.doubtnut.com/l/_FbhXNd2FoU4Q
https://dl.doubtnut.com/l/_Yg3b5CG9T2Dx
https://dl.doubtnut.com/l/_7R3GiNmPwfG6

D. 2-phenylpropane

Answer: C

o Watch Video Solution

46. Which of the following is Thiophenol ?

S
(A)
A
SCl
(B)
B.
SH
()


https://dl.doubtnut.com/l/_7R3GiNmPwfG6
https://dl.doubtnut.com/l/_B2pEQ7uxMDDv

SOIH

(D)

D

Answer: C

o Watch Video Solution

47.The carbon-oxygen bond length in phenol is

A.120 pm

B.136 pm

C.150 pm

D.180 pm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_B2pEQ7uxMDDv
https://dl.doubtnut.com/l/_GzETw1IGAw9d

48. Phenol can be prepared from

A. sodium phenoxide

B. chlorobenzene

C.sodium benzene sulphonate

D. all of these

Answer: D

o Watch Video Solution

49. In which of the following reaction, phenol or sodium phenoxide is

NOT formed ?

fused

A. C’6H55’03Na + 2NaOH —
573K

B. C’6H5ONa + HQSO4 —

3(POy)
C.CsH5Cl + H,O —>
698K


https://dl.doubtnut.com/l/_ImEJMECSkZDQ
https://dl.doubtnut.com/l/_hsAkt5huEvSa

CuCl
D. 06H5NNCl —
KCl

Answer: D

o View Text Solution

50. Oxidation of which of the following by air in the presence of

vanadium pentoxide gives phenol ?

A. Toluene

B. Benzene

C. benzaldehyde

D. Phenyl acetic acid

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hsAkt5huEvSa
https://dl.doubtnut.com/l/_w5GoadRk14cV

51. Phenols on exposure to light and air gets oxidised to

A. quinines

B. quinones

C.quinols

D. all of these

Answer: B

° Watch Video Solution

52. Ortho isomer of nitrophenol is steam volatile due to

A. inter molecular hydrogen bonding

B. intra molecular hydrogen bonding

C. hydrogen bonding

D. covalent bonding


https://dl.doubtnut.com/l/_1JmmMP7H82lt
https://dl.doubtnut.com/l/_8axybOuRa1Yi

Answer: B

o Watch Video Solution

53. Which of the following is basically responsible for acidic nature of

phenols ?

A. Displacement of lone pair form oxygen atom.

B. Resonance between bonds with only one pair of shared electrons.

C. Cleavage of the -O-H bond.

D. Resonance between bonds with two shared pairs and the lone

pair of the electrons.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8axybOuRa1Yi
https://dl.doubtnut.com/l/_yL43hsslI7ZW

54. Phenol dissolves in NaOH to form sodium phenate but on passing
CO, gas into the solution of sodium phenate , phenol is precipitated .

This shows that

A. phenol is weakly acid but stronger than carbonic acid

B. phenol is basic

C. phenol is amphoteric

D. phenol is weakly acidic, weaker than even carbonic acid

Answer: D

o Watch Video Solution

55. Which of the following stes of groups activates the ortho and para

positions in electrophilic aromatic substitutions ?

A.—OH, — NO,, — CHO


https://dl.doubtnut.com/l/_CwmN5mUyeIkP
https://dl.doubtnut.com/l/_lqWkyextGlFp

B. — NH,, NO,

C.—OH - OR

D.—OR, —C=N, —Cl

Answer: C

o Watch Video Solution

56. In bromination of phenol, o-Bromophenol is minor product due to
A. steric attraction between -OH and -Br
B. steric repulsion between -OH and -Br
C. hydrogen bonding

D. low reactivity of bromine

Answer: B

| o Wikl \ Nt dan CAlLiibkia



https://dl.doubtnut.com/l/_lqWkyextGlFp
https://dl.doubtnut.com/l/_ZjiDWg88NMKJ

& __vYvatilll VIUCUV JUVIUVLIVII J)

57. For the conversion of carbolic acid to picric acid, the reagents used

A.alc. HNO. in the presence of conc. HNO;

B. conc.HC'l in the presence of conc. HNO;3

C.conc. HNOQOs; in the presence of conc. H, SO,

D. conc. HNQy in the presence of conc. Hy S50, .

Answer: C

o Watch Video Solution

58. Which of the following NOT CORRECTLY matched ?

A.Phenol +CHCl3 + NaOH — Saliyladehyde

B. Phenol + Zn dust — Benzoic acid


https://dl.doubtnut.com/l/_ZjiDWg88NMKJ
https://dl.doubtnut.com/l/_tg5YIPgSUSAU
https://dl.doubtnut.com/l/_8EUVcY5uvA9V

Bromine water

C.Phenol ———— Tribromophenol

D. Sodium phenoxide +CO, — Salicylic acid

Answer: B

° Watch Video Solution

59. Phenol can be distinguished from ethyl alcohol by all reagents

EXCEPT

A. I2 —+ NCLOH
B. neutral FeCls
C. BT’Q /HQO

D. Na

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8EUVcY5uvA9V
https://dl.doubtnut.com/l/_044XnswUQFZI

60. Phenol is used in the manufacture of

A. antiseptics

B. cyclohaxanol

C. bakelite

D. all of these

Answer: D

o Watch Video Solution

61. Phenol is an antiseptic because of its

A. toxic effect on micro-organisms

B. associated molecules

C. high melting and boiling points

D. acidic character


https://dl.doubtnut.com/l/_LS2UKK6COvQM
https://dl.doubtnut.com/l/_GkLTfnfStDJp

Answer: A

o Watch Video Solution

62. Phenol is NOT used in the manufacture of

A. phenolic resins

B. dyes and herbicides

C. petrol substitutes

D. explosives and wood preservatives

Answer: C

o Watch Video Solution

63. Ethers are

A. alkyl derivatives or anhydride of alcohols


https://dl.doubtnut.com/l/_GkLTfnfStDJp
https://dl.doubtnut.com/l/_hdF5CRLPRBUv
https://dl.doubtnut.com/l/_qdMxa1Kf6xpt

B. compound derived from water by replacing both the hydrogen

atoms of water by alkyl group

C. alkoxyalkane

D. all of these

Answer: D

o Watch Video Solution

64. The general formula of aliphatic ethers is same as that of

A. monohydric alcohols

B. dihydric alcohols

C. trihydric alcohols

D. polyhydric alcohols

Answer: A

s |


https://dl.doubtnut.com/l/_qdMxa1Kf6xpt
https://dl.doubtnut.com/l/_ANzDvh1NojGJ

| W Watch Video Solution

65.CyH; — OH and are the functional group isomers .

A.CyHs — O — CH;

B.CH; — O — CH;

C.CyHy; — O — CyH;

D.CH; — OH

Answer: B

o Watch Video Solution

66. Etherates are

A. ethers

B. solution in ethers

C. complexes of ethers with Lewis acid


https://dl.doubtnut.com/l/_ANzDvh1NojGJ
https://dl.doubtnut.com/l/_hmbYQV9ek7dF
https://dl.doubtnut.com/l/_G1bOCQ1gCRIo

D. complexes of ethers with Lewis base

Answer: C

o Watch Video Solution

67. Anisole is

A. a mixed ether

B. an aliphatic ether

C. an aromatic ether

D.both Aand C

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_G1bOCQ1gCRIo
https://dl.doubtnut.com/l/_Jn7eBznwvVyG

68. Four statements ethers are given below. Identify the FALSE
statements .

(i) Ethers are named as alkoxy derivatives of alkane .

(i) The larger alkyl group along with oxygen atom is named as alkoxy
groups .

(iii) The larger alkyl group is considered as the parent alkane.

(iv) The position of the alkoxy group is indicated by the maximum

number .
A. (i) and (iii)
B. (ii) and (iv)
C. (ii) and (iii)
D. (i) and (iv)
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8N0EkV8a5WTz
https://dl.doubtnut.com/l/_IbLOEdog4t5V

69. The IUPAC name of

CHQZCH—CHg—O—CH:;iS

A. Methyl propene ethers

B. 3-Methoxyprop-1-ene

C. 1-Methoxyprop-2-ene

D. Methoxypropene

Answer: C

o Watch Video Solution

70.The IUPAC name of CoHy — O — CHy — CH(CHj), is

A. 1-Ethoxy-1-butane
B. 2-Ethoxy-2-butane
C. 1-Ethoxy-2-methylpropane

D. 3-Ethoxy-2-methylpropane


https://dl.doubtnut.com/l/_IbLOEdog4t5V
https://dl.doubtnut.com/l/_p6vn8EeABVLJ

Answer: C

o Watch Video Solution

71.CsH; — O — CHj is named as :

A. methoxybenzene

B. anisole

C. methyl phenyl ether

D. all of these

Answer: D

o Watch Video Solution

CH; — CH, — CH — CH,CHj

72.Name of the compound is

|
O — CH, — CH,CHj


https://dl.doubtnut.com/l/_p6vn8EeABVLJ
https://dl.doubtnut.com/l/_nRaCoqi23zFL
https://dl.doubtnut.com/l/_Bujaa4UF2tCx

A. 3-Ethylpropoxypropane

B. 3-Propoxypentane

C. 3-Ethoxyhexane

D. 3-Propoxyhexane

Answer: B

o Watch Video Solution

73.The oxygen containing angle is maximum in

A. H,O
B. CH;OH
C. CH3;0CH,

D. (CH;),COC(CHs),

Answer: D

[ &


https://dl.doubtnut.com/l/_Bujaa4UF2tCx
https://dl.doubtnut.com/l/_zjDCqtEdk7LF

| W Watch Video Solution

74. Which of the following is FALSE regarding diethyl ether ?

A. It does not possess dipole moment .

B. It is soluble in water

C.It is soluble in conc. H,SO,

D. It is volatile .

Answer: A

o Watch Video Solution

75.The continuous etherification process will give

A. only simple ethers

B. only mixed ethers

C. only lower ethers


https://dl.doubtnut.com/l/_zjDCqtEdk7LF
https://dl.doubtnut.com/l/_rNgMlbFaIv8G
https://dl.doubtnut.com/l/_jihfyhfxF9jQ

D. only higher ethers

Answer: A

o Watch Video Solution

76. Which of the following is the best method for making iso-
propylmethyl ether ?

A. 02H5I + (CH3)2CHONCL —

B. CHgI + (CHg)ZCHONG, —

C. (CH3)2C’HI+ CH;0OH —

D. (CH;),CHCI + CH;0H —

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jihfyhfxF9jQ
https://dl.doubtnut.com/l/_IuDc3Hz8cPeY

77. A compound X on treatment with Na gives Y and with PCl5 gives Z.

Y and Z react together to give diethyl ether , X,Y and Z are respectively

A 02H5OH, C2H5ONCL, 02H5Cl

B.CoH;OH, CyHg, CoH;OH

C.CyHCl, CyHg, CoHsOH

D. 02H50H, 02H5Cl, C’2H50Na

Answer: A

o Watch Video Solution

78. In Williamson's synthesis , tert-alkyl halides CANNOT be used

because

A. they readily decompose to give olefin along with ethers


https://dl.doubtnut.com/l/_gnhNioB5Gqdk
https://dl.doubtnut.com/l/_qN4L7mC12fqL

B. they are not reactive

C.the reaction becomes reversible

D. it is difficult to remove halogen atom

Answer: A

o Watch Video Solution

79. The product (S) in the following sequence of reaction is

HBr NaOH (aq) Na CH;I
CoH; — (P) —— (Q) — (R) —

(5)

A.butane
B. diethyl ether
C. propane

D. ethyl methyl ether

Answer: D

| o Watch Video Solution


https://dl.doubtnut.com/l/_qN4L7mC12fqL
https://dl.doubtnut.com/l/_mUuErRrYRzHS

80. For the preparation of tertiary butyl ethyl ether , the reaction

preferred is

CH,
|
A CHg — C — 0O Na+ Br — CH20H3 —
|
CHs
CH;,
\
B. CH30H20_N(L+ 4+ Br— C — CH3 —
\
CHs
CH,
| H,50,, A
CCHg - C —OH+HO— 02H5 E—
| 170°
CH;
CH,
|
D. CH30H2OH + Br — |C’ — CHg —
CH;

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mUuErRrYRzHS
https://dl.doubtnut.com/l/_ZrIwzCMCYqt9

81. Which of the following compound is used to obtain

methoxymethane ?

A. Methanol
B. Diazomethane
C.lodomethane

D. all of these

Answer: D

o Watch Video Solution

moist H>S04 CoHsOH . . .
82.CyHsI — P > Q > R.Identify R in the reaction.
Ag,O 110°C 140°

A.CyH;COOC,Hj
B.CoHs — O — CyHj

C. CH2 — CH2



https://dl.doubtnut.com/l/_5Pxjvm0wkVOA
https://dl.doubtnut.com/l/_nl4fbArLUEOE

D.CoH; HSO,

Answer: B

o Watch Video Solution

83.In the reaction :

Br
‘ 1cKOH HBr CH,ON
CH; — CH - CH; =5 A y B—5C,Clis

Peroxide

A.diethyl ether

B. 1-methoxypropane

C. isopropyl alcohol

D. propylene glycol

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nl4fbArLUEOE
https://dl.doubtnut.com/l/_AJjGg9o5yPIP
https://dl.doubtnut.com/l/_i9VGlDnAhZmG

84. Which of the following ethers has highest boiling point ?

A. Ethyl ether

B. Vinyl ether

C. Phenyl ether

D. Tetrahydrofuran

Answer: C

o Watch Video Solution

85. The CORRECT order of boiling point is

A. 02H5 -0 — 02H5 > C4H90H > C.Hg -0 — CHg

B.C,Hy — O — CyHy < C4HyOH < CH; — O — CH

C.CH; — O —-CH; < Cy3Hs; — O — CyH5 < C4HyOH

D.CH; — O — CH; > CyHs — O — CyHy > C4HyOH


https://dl.doubtnut.com/l/_i9VGlDnAhZmG
https://dl.doubtnut.com/l/_ydhvlikYM1oq

Answer: C

o Watch Video Solution

86. Out of the following statements about ethers , which statement is

FALSE ?

A.They are inert in action.

B. They react with Na.

C.They are highly inflammable .

D. They are derivatives of water .

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ydhvlikYM1oq
https://dl.doubtnut.com/l/_0rkQhmGrXkd0

87.0n boiling with concentrated hydrobromic acid, phenyl Ethyl ether

will yield

A. phenol and ethyl bromide

B. bromopenzene and ethanol

C. phenol and ethane

D. bromobenzene and ethane

Answer: A

o Watch Video Solution

88. Reaction of ether with Hl is preferred than HBr because

A. Hl is stronger than HBr

B. HI gives higher concentration of oxonium ion

C. I~ is a better nuclophile in Sy 2 reaction than the Br ~ ion


https://dl.doubtnut.com/l/_zuFEIUW4JghA
https://dl.doubtnut.com/l/_oe4RWy3CTG3y

D. all of these

Answer: D

o Watch Video Solution

89. Which of the following reagents is used to obtain only propan-2-ol
from 2-isopropoxypropane ?

A.Cold HI

B. 02H5ON(1,

C.CH,N, /| HBF,

D.dil. H,50,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oe4RWy3CTG3y
https://dl.doubtnut.com/l/_Y9jn0zxlfr5z

90. Anisole reacts with the nitrating mixture to give

A. 2-nitroanisole

B. 4-nitroanisole

C. 2,4-dinitroanisole

D. mixture of 2-nitroanisole and 4-nitroanisole

Answer: D

o Watch Video Solution

91. Ether is used as a solvent in the preparation of

A. Grignard's reagent
B. Tollen's reagent
C. Organometallic reagent

D.Both Aand C


https://dl.doubtnut.com/l/_EFUW0iJSLaMp
https://dl.doubtnut.com/l/_O4H6BfSmErwN

Answer: D

o Watch Video Solution

92. Lower ethers are volatile liquids which on evaporation produce

cooling. Therefore , they are used in

A. motors

B. refrigerators .

C. heaters

D. washing machine

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_O4H6BfSmErwN
https://dl.doubtnut.com/l/_UA268Mi84FRG

93. Compounds having molecular formula C5 H150 may be classified as

A. ketones and alcohols

B. ethers and alcohols

C. ketones and ethers

D. aldehydes and ketones

Answer: B

o Watch Video Solution

94. Which one of the following ethers on hydrolysis gives two different

products that are successive members of a homologous series ?

A. Methoxymethane

B. Ethoxyethane


https://dl.doubtnut.com/l/_Ow4wjYVthMSB
https://dl.doubtnut.com/l/_eyN1Nimmcxzn

C. Methoxyethane

D. 2-methoxypropane

Answer: C

o Watch Video Solution

95. Alcohols are functional isomers with ethers. Total number of

isomers of alcohols and ethers represented by the formula CyH,O is

A9

B.7

C.5

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eyN1Nimmcxzn
https://dl.doubtnut.com/l/_MPAwsrbeZj4O

96. Which of the following compounds is optically active ?

A.CH;CHOHCOOH

B. CH;CH,COOH

C. HOOCCH,COOH

D. CH3;COCOOH

Answer: A

o Watch Video Solution

97. Action of diazomethane on phenol liberates

A. O,

B. H,

C. N,


https://dl.doubtnut.com/l/_MPAwsrbeZj4O
https://dl.doubtnut.com/l/_BcnrOqy54OAA
https://dl.doubtnut.com/l/_Ce7YrrIr1eeU

D.CO,

Answer: C

o Watch Video Solution

98. Which of the following statements are TRUE ?

A. Phenol is called carbonic acid

B. All monohydric alcohols are primary alcohols.

C. Boiling point of ethers are much lower than isomeric alcohols.

D. Phenols can be prepared by Williamson's synthesis.

Answer: C

o Watch Video Solution

99. Williamson's synthesis is used to prepare


https://dl.doubtnut.com/l/_Ce7YrrIr1eeU
https://dl.doubtnut.com/l/_iNqQ7ePwI0nl
https://dl.doubtnut.com/l/_24Fy9a85FXYg

A. acetone

B. diethyl ether

C.PVC

D. bakelite

Answer: B

o Watch Video Solution

100. The compound fromed when Ethyl bromide is heated with dry

silver oxide is

A. dimethyl ethers

B. diethyl ether

C. methyl alcohol

D. ethyl acohol


https://dl.doubtnut.com/l/_24Fy9a85FXYg
https://dl.doubtnut.com/l/_VooYbrYwWXFf

Answer: B

o Watch Video Solution

101. Ether and alcohol can be distinguished by the reaction with

A. metallic sodium

B. PCly

C. SOClI,

D.Both Aand C

Answer: D

o Watch Video Solution

102. Ethyl alcohol when trated with H, S50, , gives

A. ethylene


https://dl.doubtnut.com/l/_VooYbrYwWXFf
https://dl.doubtnut.com/l/_o2LJlKGKOKZM
https://dl.doubtnut.com/l/_hjsxCgOotySg

B. ethyl hydrogen sulphate

C.diethyl ether

D. all of these

Answer: D

o Watch Video Solution

103. Alcohols CANNOT be prepared from

A. CszB'f’ + aq. KOH —

B. (CHy),C = 0 “4%

C.H,C — C — OCH; ——
N H,0
(0

D. CHsCH,Cl 225

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hjsxCgOotySg
https://dl.doubtnut.com/l/_OlSDyujwTNnZ

(i) NaOH H* /H,O Acy,O

104. Phenol A s B > C in this reaction the

(ii) CO,/140°C

end product Cis

A. salicyl aldehyde
B. salicylic acid
C. phenyl acetate

D. aspirin

Answer: D

o Watch Video Solution

105. An oranic compound dissolved in dry benzene evolved hydorgen

on treatment will sodium. It is

A. a ketone

B. an aldehyde


https://dl.doubtnut.com/l/_OlSDyujwTNnZ
https://dl.doubtnut.com/l/_UOiZ74K2QQsJ
https://dl.doubtnut.com/l/_RyCYjqYHIaSM

C. a tertiary amine

D. an alcohol

Answer: D

o Watch Video Solution

106. When a mixture of ethanol and methanol is heated in the presence
of concentreated HyS50y, the resulting organic product/ products is/
are

A.CH;0C;5Hj

B. CHgocHg and 02H5002H5

C. CH3002H5 and CH300H3

D. CH3002H5, CH3OCH3 and 02H5002H5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RyCYjqYHIaSM
https://dl.doubtnut.com/l/_3CXK4ncIg7gz

107. Identify (Z) in the series.

.H>S0. B Ex f
CaH,0H — 2270 (X)) =5 (V) ——25 (2)
443K alc. KOH

Acm—?H—?m

NH; NH,

B.CHs; — CH — CH
on  on

C.CH; — C =CH>
on

D.CH3C = CH

Answer: D

o Watch Video Solution

Competitive Thinking


https://dl.doubtnut.com/l/_3CXK4ncIg7gz
https://dl.doubtnut.com/l/_kAzfjU4fKRvb

1. The general molecular formula, which represents the homologous

series of alkanols is

A.C,H,,0

B.C,,Hyp, 10

C.C,Hj, 20

D.C,H,,0,

Answer: C

o Watch Video Solution

2. Which of the following is tertiary alcohol?

A sl

B. e
CH3
|
C.CH, — (|7 — OH

CH3


https://dl.doubtnut.com/l/_Hw1y4dfG1mj7
https://dl.doubtnut.com/l/_wfjoWeOG30dS

D.CH; — CH, — OH

Answer: C

o View Text Solution

3.This is a tertiary alcohol :

A. 3-Methylbutan-2-ol

B. Butan-2-ol

C. 2-Methoylpropan-2-ol

D. Pentan-2-ol

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wfjoWeOG30dS
https://dl.doubtnut.com/l/_MffyUR6UQtJI

4.lUPACnameof CH; — C H— CH — CHjis
|

|
CHj OH

A. 2-Methylbutan-3-one

B. 3-Methylbutan-2-ol

C. 2-Methylbutan-3-ol

D. 3,3-Dimethylpropan-2-ol

Answer: B

o Watch Video Solution

5. The conversion of propene to propanol is

A. hydrogenation

B. hydration

C. hydrolysis

D. dehydrogenation

type of reaction.



https://dl.doubtnut.com/l/_qEVyEnZimORO
https://dl.doubtnut.com/l/_VsfqqDBjqKKS

Answer: B

o Watch Video Solution

6. Ethyl alcohol is industrially prepared from ethylene by:

A. permanganate oxidation

B. catalytic reduction

C.absorbing in H, SO, followed by hydrolysis

D. fermentation

Answer: C

o Watch Video Solution

7.Propene on hydration gives

A. propan-1-ol


https://dl.doubtnut.com/l/_VsfqqDBjqKKS
https://dl.doubtnut.com/l/_GZ0dCb7rbKXC
https://dl.doubtnut.com/l/_pBdMn35wr5Ru

B. propan-2-ol

C. propane

D. propyne

Answer: B

o Watch Video Solution

8. Acid catalyzed hydration of alkenes except ethene leads to the
formation of

A. primary alcohol

B. secondary or tertiary alcohol

C. mixture of primary and secondary alcohols

D. mixture of secondary and tertiary alcohols .

Answer: B

| o Wikl .\t dan CAli bkt



https://dl.doubtnut.com/l/_pBdMn35wr5Ru
https://dl.doubtnut.com/l/_yIfyTyYmHM7O
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NaOH
9.CH, = CHy + ByHs —— Pr oduct. Product is :

H,50,

A.CH;CH,CHO
B. CHyCH,OH
C.CH;CHO

D. CH;0H

Answer: B

o Watch Video Solution

10. Propene, CH; — CH = (C'H,, can be converted to 1-propanol by
oxidation. Which set of reagents among the following is ideal to effect

the conversion?

A. Alkaline KMnQOy


https://dl.doubtnut.com/l/_yIfyTyYmHM7O
https://dl.doubtnut.com/l/_WzsWIs8t9ys3
https://dl.doubtnut.com/l/_iWe22cFx2Yjj

B. By Hg and alkaline H,O,
C. O3/ Zn dust

D. OSO4/CH20Z2

Answer: B

o Watch Video Solution

X
N.CyH, — CH = CHCHO 25 CyH,CH = CH,0H

In the above sequence (X) can be:
A.H, /Ni
B. NaBH,
C. K2C’I"207 /H+

D. H, / Pd

Answer: B

| ° wAar_o_L vl e~


https://dl.doubtnut.com/l/_iWe22cFx2Yjj
https://dl.doubtnut.com/l/_ikwARSO5bAiZ
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12. Which one of the following compounds gives a secondary alcohol

upon treatment with methyl magnesium bromide ?

A. Formaldehyde

B. Formic acid

C. acetaldehyde

D. Acetone

Answer: C

o Watch Video Solution

13. Acetyl bromide reacts with excess of CH3MGI followed by

treatement with a saturated solution of NH,(C'1 gives:

A. 2-methylpropan-2-ol


https://dl.doubtnut.com/l/_ikwARSO5bAiZ
https://dl.doubtnut.com/l/_B5GgaRxx0FGf
https://dl.doubtnut.com/l/_FY2K2BSCocIe

B. acetamide

C. acetone

D. acetyl iodie

Answer: A

o Watch Video Solution

CH;

K,Cr0; _ CHyMgl |
> B » CHy — C — CH;
\

OH

14. A
dil. H2.504 H,0

The reactant A is

A.CH3;CHOHCHj,

B. CH;COCHj

C.CoH;0OH

D.CH;COOH

Answer: A


https://dl.doubtnut.com/l/_FY2K2BSCocIe
https://dl.doubtnut.com/l/_0jXnfKkhG0Zb

o Watch Video Solution

15. Order of boiling point among primary , secondary and tertiary

alcohols is :

Al° >2° > 3°

B.3° >2° >1°

C.2° >1° > 3°

Answer: A

o Watch Video Solution

16. Which of the following compounds has lowest boiling point ?

A. b-butyl alcohol


https://dl.doubtnut.com/l/_0jXnfKkhG0Zb
https://dl.doubtnut.com/l/_VAWcJIUFtYmx
https://dl.doubtnut.com/l/_19CHTX2igc9f

B. isobutyl alcohol

C. tert-butyl alcohol

D. sec-butyl alcohol

Answer: C

o Watch Video Solution

17.The boiling point of glycerol is more than propanol because of

A. hydrogen bonding
B. hybridization
C.resonance

D. metamerism

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_19CHTX2igc9f
https://dl.doubtnut.com/l/_wZUITsz55tMq

18. The boiling point of methanol is greater than that of Methyl thiol

because

A.there is intramolecular hydrogen bonding in methanol and

intermolecular hydrogen bonding in methyl thiol

B. there is intermolecular hydrogen bonding in methanol and no

hydrogen bonding in methyl thiol

C.there is no hydrogen bonding in methanol and intermolecular

hydrogen bonding in methly thiol

D. there is intramolecular hydrogen bonding in methanol and no

hydrogen bonding in methyl thiol

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RbP5t8yCnd5Y

19. Which of the following is most soluble in water ?

A. Normal butyl alcohol

B. isobutyl alcohol

C. Tertiary butyl alcohol

D. Secondary butyl alcohol

Answer: C

o Watch Video Solution

20. Sodium with ethyl alcohol gives which of the following gases ?

A H,

B. N,

C.CO,

D. O,


https://dl.doubtnut.com/l/_Tx4M6UzrI8OU
https://dl.doubtnut.com/l/_97wnEyqAEvSy

Answer: A

o Watch Video Solution

21. Which of the following react with benzoic acid to form enthyl
benzoate?

A. Ethyl alcohol

B. Cinnamic acid

C. Sodium ethoxide

D. Ethyl chloride

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_97wnEyqAEvSy
https://dl.doubtnut.com/l/_rIEpKgYC8NuL

CH,OH
| COOH o
110°
22. In the reaction CHOH + | —— (A), product (A) will be

| COOH
CH,OH

A. glycerol monoformate
B. allyl alcohol
C. formaldehyde

D. acetic acid

Answer: A

o Watch Video Solution

23. Which of the following compounds reacts immediately with Lucas

reagent ?

A.CH;CH,OH


https://dl.doubtnut.com/l/_FlXOAxP1H3ks
https://dl.doubtnut.com/l/_ftTs7U6CjWLI

B. CH;CH,CH,0H

C.CH; — CH — CHjs
|
OH
CH;

|
D.CH; — C — CHjs

|
OH

Answer: D

o Watch Video Solution

24. Which will give immediate trubidity on shaking with HCl at room

temperature ?

A. 2-Methylbutan-1-ol

B. 2-Methylpropan-2-ol

C. 2-Ethylbutan-1-ol

D. 3-Methylbutan-1-ol

Answer: B


https://dl.doubtnut.com/l/_ftTs7U6CjWLI
https://dl.doubtnut.com/l/_Ewt4XVQBX0yw

o Watch Video Solution

25.The medium used to convert an alcohol into an alkyl chloride using

thionly chloride is

A. pyridine

B. water

C. ether

D.ammonia

Answer: A

o Watch Video Solution

26. Alcohol gives rise to alkene in which reaction ?

A. Hydrolysis


https://dl.doubtnut.com/l/_Ewt4XVQBX0yw
https://dl.doubtnut.com/l/_7Fvn83JXQsRc
https://dl.doubtnut.com/l/_nXfILo35Xqxw

B. Dehydration

C. Reduction

D. Oxidation

Answer: B

o Watch Video Solution

27.The ease of dehydration in alcohols is in the order of

A3° >2° >1°

B.1° > 2° > 3°

C.2° >1° > 3°

D.3° >1° > 2°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nXfILo35Xqxw
https://dl.doubtnut.com/l/_D2KAlRLfBj1C

28. On reaction with hot conc. HySOy, which one of the following

compounds loses a molecule of water ?

A. CH;COCH;

B. CH;CH,OH

C. CH;COOH

D. CH;CH,COCH;

Answer: B

o Watch Video Solution

29.During the dehydration of alcohols to alkenes by heating with conc.

H,504, the initiating step is :

A. protonation of alcohol molecule

B. formation of carbocation


https://dl.doubtnut.com/l/_Smm13wPF65en
https://dl.doubtnut.com/l/_dn0BdxTBqjx3

C. elimination of water

D. formation of an ester

Answer: A

o Watch Video Solution

30. When alcohol reacts with conc. HyS0Oy, intermediate compound

formed is :

A. carbonium ion

B. alkoxy ion

C. alkyl hydrogen sulphate

D. carbanion

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dn0BdxTBqjx3
https://dl.doubtnut.com/l/_S3GebamREbDj

31. The best method to prepare cyclohexene from cyclohexanol is by

using

A.conc. HCl + ZnCl,

B. conc. H3 POy,

C. HBr

D.conc. HCI

Answer: B

o Watch Video Solution

32. The most suitable reagent for the conversion of

R—-CHy, —-OH - R—-CHO's

A. KMnQO,

B. K20T207


https://dl.doubtnut.com/l/_xreIp1y5Bngh
https://dl.doubtnut.com/l/_cZ51QHoKVCl0

C. C’I‘Og

D. PCC (Pyridinium chlorochromate )

Answer: D

° Watch Video Solution

1d H250 A K>Cr20
33.CH; — CH = CH, =23 A 2B =% C identify C.
H,

A. propanol

B. propionaldehyde

C. butanone

D. propanone

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cZ51QHoKVCl0
https://dl.doubtnut.com/l/_WHTlOWx8u55h

34. Which is used as an antifreeze ?

A. Glycol

B. Ethyl alcohol

C. Water

D. Methanol

Answer: A

o Watch Video Solution

35. Glycerol is used

A. as a sweetening agent

B. in the manufacture of good quality soap

C. in the manufacture of nitro glycerine

D. in all of these


https://dl.doubtnut.com/l/_kw2MVRk1Mk8Q
https://dl.doubtnut.com/l/_ACW3yVEF3B0R

Answer: D

o Watch Video Solution

36. Which of the following characteristic group is present in carbolic

acid ?
A.—COOH
B.—COCI
C.—COOR
D.-OH

Answer: D

o Watch Video Solution

37.Carbolic acid is



https://dl.doubtnut.com/l/_ACW3yVEF3B0R
https://dl.doubtnut.com/l/_WNGn5IOT1SOD
https://dl.doubtnut.com/l/_ynMmDUKXCv19

A. phenol

B. phenyl benzoate phenyl acetate

C. phenyl acetate

D. salol

Answer: A

o Watch Video Solution

38. Cresol has :

A. alcoholic -OH

B. phenolic -OH

C.—-COOH

D.—CHO

Answer: B

[ &


https://dl.doubtnut.com/l/_ynMmDUKXCv19
https://dl.doubtnut.com/l/_SeyIU4qVOZjD

| W Watch Video Solution

39. 2, 4, 6-trinitrophenol is

A. tear gas

B. picric acid

C. chloropicrin

D. all of these

Answer: B

o Watch Video Solution

40.The starting raw material in Dow's process is

A. aniline

B. chlorobenzene

C.diazobenzene



https://dl.doubtnut.com/l/_SeyIU4qVOZjD
https://dl.doubtnut.com/l/_1461Ov58ooTu
https://dl.doubtnut.com/l/_ybHG1bTCqn5g

D. phenol

Answer: B

o Watch Video Solution

41. Name the catalyst used in commerical method of preparation of

phenol.

A. Silica

B. Calcium phosphate

C. Anhydrous aluminium chloride

D. Cobalt naphthenate

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ybHG1bTCqn5g
https://dl.doubtnut.com/l/_YmZalVgCooli

42.Compared to saturated alcohols , phenols have

A. low B.P. and low solubility in water

B. high B.P. and low solubility in water

C. high B.P. and high solubility in water

D. none of these

Answer: B

o View Text Solution

43. Phenol is

A. a weaker base than NHj .

B. stronger acid than carbonic acid

C. weaker acid than carbonic acid

D. a neutral compound


https://dl.doubtnut.com/l/_B4EB6b49dQ55
https://dl.doubtnut.com/l/_V4caIoPaWL44

Answer: C

o Watch Video Solution

44.Which is the strongest acid ?

A.Cl— CH, — CH, — OH
B. L
C.Qo

View Text Solution

45. Which among the following phenolic compounds is most acidic in

nature?

A. p-aminophenol

B. phenol


https://dl.doubtnut.com/l/_V4caIoPaWL44
https://dl.doubtnut.com/l/_qz9sjXT59F3J
https://dl.doubtnut.com/l/_5OpSJJaSClDq

C. m-nitrophenol

D. p-nitrophenol

Answer: D

o Watch Video Solution

46. Which one is the most acidic compound ?

Al

B. Lo

c.l&

D. s

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_5OpSJJaSClDq
https://dl.doubtnut.com/l/_cEvkjTtwL0E5

47. Phenol reacts with bromine water in the ratio of to give 2,4,6-

Tribromo phenol.

Al:1

B.1:2

C.1:3

D.1:4

Answer: C

o Watch Video Solution

48. Nitration of phenol at room temperature with dil. HNOj yields

A. o-nitrophenol

B. p-nitrophenol

C. 2,4 ,6-trinitrophenol


https://dl.doubtnut.com/l/_GZY9GBizS3t0
https://dl.doubtnut.com/l/_buImtKeD68Uq

D. mixture of Aand B

Answer: D

o Watch Video Solution

49.The carbolic acid reacts with nitrating mixture to give

A. o-nitrophenol

B. p-nitrophenol

C.2,4,6-trinitrophenol

D. o-and p-nitrophenol

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_buImtKeD68Uq
https://dl.doubtnut.com/l/_Q1v56mcKZM8h

50. In the reaction

NaOH CO2+HCI
Phenol —— (A) ———— (B) here B is
140

A. Salicylaldehyde

B. benzoic acid

C. Chlrorobenzene

D. Salicylic acid

Answer: D

o Watch Video Solution

51. Reaction of phenol with chloroform in presence of dilute sodium

hydroxide finally introduce which one of the following fuctional group?

A.—CHC(CI,

B.—CHO


https://dl.doubtnut.com/l/_Q7kjelLFju3J
https://dl.doubtnut.com/l/_DEvZC7JZ2Wbo

C.—CH,Cl

D.-COOH

Answer: B

o Watch Video Solution

52. Phenol on distillation with zinc dust gives

B. CGHIQ

C. C4H;OC H

D. 06H5 - CGHS

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DEvZC7JZ2Wbo
https://dl.doubtnut.com/l/_FJ7J3tQwRqg3

53. In Friedel-Crafts acylation , besides AlCI3 , the other reactants are

A=
B.[&
c.l&=

D. L

Answer: B

o View Text Solution

54. Which of the following is a simple ether ?

A.CH30CHj,

B. CoH;OCHj

C.C¢H;OCHj


https://dl.doubtnut.com/l/_ZOyeZ6xtYiFe
https://dl.doubtnut.com/l/_uaD8i3V8ThYx

D. C¢H;OC,Hj

Answer: A

o Watch Video Solution

55.Name of (CH3),CH — O — CHy — CHy — CHj is

A. isopropyl n-propyl ether
B. dipropyl ether
C. di-isopropyl ether

D. isopropyl propyl ketone

Answer: A

o Watch Video Solution

56. The compound which is not isomeric with diethyl ether is :


https://dl.doubtnut.com/l/_uaD8i3V8ThYx
https://dl.doubtnut.com/l/_nzOD9Oh0IIdg
https://dl.doubtnut.com/l/_0DM4nvp0hpbu

A. n-propyl methyl ether

B. Butan-1-ol

C. 2-methylpropan-2-ol

D. butanone

Answer: D

o Watch Video Solution

57. The molecular formula of compound is CyH17O, is represents three

isomers, then the type of isomerism is

A. functional isomerism

B. metamerism

C. chain isomerism

D. all of these


https://dl.doubtnut.com/l/_0DM4nvp0hpbu
https://dl.doubtnut.com/l/_lNeL6lRYIvrZ

Answer: B

o Watch Video Solution

58. Conc. Hy SO, heated with excess of Co H;OH at 1406° C to form

A CH;CH, — O — CHs

B.CH;CH, — O — CH,CH;

C.CH; —0O—-CH, —CH, — CH;

D.CH, = CH,

Answer: B

o Watch Video Solution

59. In which case Methyl-butyl ether is formed ?

A. (02H5)300Na + CHgCl


https://dl.doubtnut.com/l/_lNeL6lRYIvrZ
https://dl.doubtnut.com/l/_2ccAe20ufqFz
https://dl.doubtnut.com/l/_DDHBKGFn3NnA

B. (CH;),CONa + CH;Cl
C. (CH3)3CONCL + 02H5Cl

D. (CH3)3CONG, + CH2Cl2

Answer: B

o View Text Solution

60. An organic compound A reacts with sodium metal and forms B. On
heating with conc. Hy SOy, A gives diethyl ether. So A and B are

A CQHE,OH and CQHE,ONQ,

B.03H7OH and CH3ONCL

D. C4H90H and C4H90Na

Answer: A

| o WMiabk .\t dan CAli bkt



https://dl.doubtnut.com/l/_DDHBKGFn3NnA
https://dl.doubtnut.com/l/_BKnXUAHBAFTe
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61. Which of the following ether is formed from alcohol and

diazomethane ?

A. Ethoxypropane

B. 2-methoxypropane

C. 2-Ethoxypropane

D. 2-Ethoxy-2-methylbutane

Answer: B

o Watch Video Solution

62. Ether which is liquid at room temperature is

A. C, H;OC H

B. CH;0CH,


https://dl.doubtnut.com/l/_BKnXUAHBAFTe
https://dl.doubtnut.com/l/_RLntrCC2ETGV
https://dl.doubtnut.com/l/_qIzWRK8Dmppn

C.CoH;0C,H5

D. CH;0H

Answer: C

o Watch Video Solution

63. Select the ether among following that yields methanol as one of the

products on reaction with cold hydroiodic acid

A. 1-Methoxybutane

B. 1-Methoxy-2-methylpropane

C. 2-Methoxy-2-methylpropane

D. Methoxybenzene

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qIzWRK8Dmppn
https://dl.doubtnut.com/l/_81GFNhlIXgKe

64. Reaction of which among the following ethers with HIl in cold leads to

formation of methyl alcohol?

A. ethyl methyl ether

B. methyl propyl ether

C. isopropyl methyl ether

D. tert-butyl methyl ether

Answer: D

o Watch Video Solution

65. tert-Butyl methyl ether on treatment with hydrogen iodide in cold

gives

A. tert-butyl iodide and methyl iodide

B. isopropyl alcohol and methyl iodide


https://dl.doubtnut.com/l/_M9S8y1XqDH62
https://dl.doubtnut.com/l/_BxbjtmPj6Aq6

C. isopropyl alcohol and methyl alcohol

D. isopropyl iodide and methyl alcohol

Answer: D

o Watch Video Solution

66. Isopropyl methyl ether when treated with cold hydrogen iodide gives

A.isopropyl iodide and methyl iodide

B. isopropyl alcohol and methyl iodide

C. isopropyl alcohol and methyl alcohol

D. isopropyl iodide and methyl alcohol

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BxbjtmPj6Aq6
https://dl.doubtnut.com/l/_A7nBYNVrLVXG

67. The heating of phenyl-methyl ethers with HI produces

A.iodobenzene

B. phenol

C. benzene

D. ethyl chlorides

Answer: B

o Watch Video Solution

68. Diethyl ether , when heated with excess HI produces

A. ethanol

B. iodoform

C. ethyl iodide

D. methyl iodide


https://dl.doubtnut.com/l/_as1efaci3ikA
https://dl.doubtnut.com/l/_EZ5EgkgfN1Ib

Answer: C

o Watch Video Solution

69. The ether that undergoes electrophilic substitution reactions is

A.CH30C,Hj

B. s H; OC H;

C. CH3;0CH,

D. 02H5002H2

Answer: B

o Watch Video Solution

70. Which is used as solvent during reactions with Grignard reagent ?

A 02H5002H5


https://dl.doubtnut.com/l/_EZ5EgkgfN1Ib
https://dl.doubtnut.com/l/_iTFhfWZdRMBA
https://dl.doubtnut.com/l/_pqCq93n04A9X

B. C, H;OH

C.CLH;NH,

D.CCly

Answer: A

o Watch Video Solution

71. Accodring to Lewis concept of acids and bases, ether is

A. acidic

B. basic

C. neutral

D. amphoteric

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pqCq93n04A9X
https://dl.doubtnut.com/l/_NqWVKdOK6F3v

72.2,2 -dichlorobutane on boiling with queous KOH gives

A. butanal

B. butan-2-one

C. Butan-2-ol

D. butanoic acid

Answer: B

o Watch Video Solution

73.dentify in the sequence

HBr/H,O CoH:ON
CH,CH,CH = CH, Ty T,

A.CH; — (CH,), — O — CH,CH,;
B.(CH;), — CH, — O — CH, — CH,

C.CH; — (CH,), — O — CHj


https://dl.doubtnut.com/l/_VVebwgxpKcwl
https://dl.doubtnut.com/l/_Ee2p8iqLQDvr

D.CH; — CH, — CH(CH;) — O — CH,CH;

Answer: A

o Watch Video Solution

74.Dow's process is for

A. manufacture of phenol

B. manufacture of diethyl ether

C. manufacture of acetone

D. manufacture of ethyl alcohol

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ee2p8iqLQDvr
https://dl.doubtnut.com/l/_1plUa1lfzW7J

75. Phenol in presence of sodium hydroxide reacts with chloroform to
form salicyladehyde.
The reaction is known as

A. Kolbe's reaction

B. Reimer-Tiemann reaction

C. Stephen reaction

D. Etard reaction

Answer: B

o Watch Video Solution

Na
B —— n-butane. A and B are
ether 0

A CH3OH, CH3ONG,



https://dl.doubtnut.com/l/_YfiwZcm731Sn
https://dl.doubtnut.com/l/_VQELPFMFi8m7

B. O, H;OH, Cy HyCl

C. 02H5OH, 02H50Na

D. CH;OH, CH;Cl

Answer: B

o Watch Video Solution

77. Among the following sets of reactants which one produces anisole?

A.CH;CHO, RMgX

B. CGH5OH, NaOH, CHgI

C.CsH5OH, neutral FeCls

D.CsHy — CH,, CH;COCI, AlCl;

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VQELPFMFi8m7
https://dl.doubtnut.com/l/_8JGeTv7hQF2V

78. What is the quantity of hydrogen gas liberated when 46g sodium
reacts with excess ethanol ?
(Given atomic mass of Na = 23)

A. 2.4 x 10 kg

B.2.0 x 10 3kg

C.4.0 x 10 3kg

D.2.4 x 10 2kg

Answer: B

o Watch Video Solution

79. The most suitable reagent for the conversion of

R—-CHy, —OH - R—-CHOs

A KM’I?,O4


https://dl.doubtnut.com/l/_ZtbtL5qGmDGa
https://dl.doubtnut.com/l/_tqTW853AeM8N

B. KsCryOy

C. C’I“Og

D. PC

Answer: D

o Watch Video Solution

80. Which of the following are isomers ?

A. Methyl alcohol and dimethyl ether

B. Ethyl alcohol and dimethyl ether

C. Acetone and acetaldehyde

D. Propionic acid and propanone

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tqTW853AeM8N
https://dl.doubtnut.com/l/_5ks7tAjnTfXM

81. The reaction

CH; CHj

CH; — C — ONa + CH3CH,Cl m CH; — C — 0O —-CH, —CHj;
CHs CHs

is called

A. Williamson synthesis

B. Williamson continuous etherification process

C. Etard reaction

D. Gatterman - Koch reaction

Answer: A

o Watch Video Solution

82. Which one of the following NOT give a primary alcohol on reduction ?

A. Propanoic acid

B. Propanal


https://dl.doubtnut.com/l/_SLfun6LBtzhq
https://dl.doubtnut.com/l/_nlbL6x6Qeg4W

C. Methyl propanoate

D. Propan-2-one

Answer: D

o Watch Video Solution

83. Which of the following compounds has highest boiling point ?

A. Propan-1-ol
B. n-Butane
C. Chloroethane

D. Propanal

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nlbL6x6Qeg4W
https://dl.doubtnut.com/l/_0asSvoOfcbra

84. What is the possible number of monohydroxy derivatives of an

aliphatic alkane (hydrocarbon) consisting of total five carbon atoms

including only one methyl group as a branch ?

A2

B.3

C.4

D.5

Answer: C

o Watch Video Solution

85. Which reagent is used for bromination of methyl phenyl ether ?

A.Bry /Red P

B. B’f’g /CHgCOOH


https://dl.doubtnut.com/l/_46DWQVtfpN1j
https://dl.doubtnut.com/l/_1EHqGxLmQ1M6

C.Bry / FeBrs

D.HBr/A

Answer: B

o View Text Solution

86. In presence of few drops of conc. Hy SOy, the product formed in the

following reaction is :

H+
H3C — ‘C = CHy + H,O —

CH;
A. 2-methylpropan-2-ol
B. 2-methylpropanal
C. 1,2-dihydroxy-2-methylpropane

D. 2-methylpropanoic acid

Answer: A



https://dl.doubtnut.com/l/_1EHqGxLmQ1M6
https://dl.doubtnut.com/l/_vKkImY7Rtmxe
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87. 2-chloro-2-methylpentane on reaction with sodium methoxide in

methanol yields:

CH;

|
(a) 02H5CH2 ‘C’ — OCH3 (b) C2H5CH2 |C' = CH2 (C)
CH3 CH3

CyH;CH, = |C’ — CH;
CHg

A. all of these
B.aandc
C.conly

D.aandb

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vKkImY7Rtmxe
https://dl.doubtnut.com/l/_GCoMGOP1bRk9

88. In which of the following reactions carbon-carbon bond formation

takes place ?

A. Cannizaro

B. Reimer -Tiemann

C. HVZ reaction

D. Schmidt reaction

Answer: B

° Watch Video Solution

Evaluation Test

1. In the carbinol system , monohydric alcohols are named as derivatives

A. methyl alcohol


https://dl.doubtnut.com/l/_Sr6DDdIKYihA
https://dl.doubtnut.com/l/_Pg1l8oDUrZHy

B. ethyl alcohol

C. n-Propyl alcohol

D. phenol

Answer: A

° Watch Video Solution

2. The compound that will react most readily with NaOH to form an

alcohol is

A C.HgBT’
B. CH?, — CH2 — CH2 — Br

C.CH; — ‘CH — CH;

Br

D. (CH3)3CBT'

Answer: D

[ &


https://dl.doubtnut.com/l/_Pg1l8oDUrZHy
https://dl.doubtnut.com/l/_lLgVZc6Vxc4q

| ¥ View lext Solution |

3. Which of the following alkenes when passed through conc. H2S04

followed by hydrolysis with boiling water would give tert-butyl alcohol

A. Ethylene

B. Isobutylene

C. Propylene

D. n-Butylene

Answer: B

° Watch Video Solution

H
H: /Raney Ni | .
4 A— CH;—-CHy,—C—-0OH.Ais
|
H

A. propanone


https://dl.doubtnut.com/l/_lLgVZc6Vxc4q
https://dl.doubtnut.com/l/_iheQdA3gaP4V
https://dl.doubtnut.com/l/_BKCU7wCpyUpD

B. acetaldehyde

C. propionaldehyde

D. propanoic acid

Answer: C

o Watch Video Solution

5. In the formation of tertiary alcohol from CyHs;MgBr and acetone ,

which part of the Grignard reagent will act as a nucleophile ?

A 02H5
B. Mg
C.Br

D. all of these

Answer: A

| ° WMiabk L. \tdan CAlLibkia



https://dl.doubtnut.com/l/_BKCU7wCpyUpD
https://dl.doubtnut.com/l/_Usp91WGbZm2p
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6. Which of the following has highest solubility in water ?

A. n-Butyl alcohol

B. sec-Butyl alcohol

C. Isobutyl alcohol

D. tert-Butyl alcohol

Answer: D

o View Text Solution

7. Three alcohols
(i) CH;CH,CH>;OH,
(i) CH;, — CHOH — CH; and

(iii) CH; — C(CH,)(OH) — CH,


https://dl.doubtnut.com/l/_Usp91WGbZm2p
https://dl.doubtnut.com/l/_QdM0p1MIvV1j
https://dl.doubtnut.com/l/_IvOMvRPO1200

were treated seperately with Lucas reagent (Conc. HCI 4+ ZnCl,) . What

results do you expect at room temperature.

A. (ii) and (iii) react immediately and (i) in about 5 minutes .

B. (iii) reacts immediately , (ii) reacts in about 5 minutes and (i) not at

all.

C. (i) reacts immediately, (ii) reacts in about 5 minutes and (iii) not at

all.

D. (i) reacts in about 5 minutes , (ii) reacts in about 15 minutes and (iii)

not at all.

Answer: B

o Watch Video Solution

Pyridine

8 R - OH + SOCly —— R — Cl + SO2 + HCI

Pyridine in the above reaction -


https://dl.doubtnut.com/l/_IvOMvRPO1200
https://dl.doubtnut.com/l/_ANYSznEQX0FQ

A. catalyses the reaction

B. is used to dissolve alkyl chloride.

C.is used to remove other impurities .

D. is used to absorb SO, gas

Answer: A

o Watch Video Solution

9. Which alcohol is difficult to oxidize ?

A. Methanol

B. Butan-1-ol

C. Propan-2-ol

D. 2-Methylpropan-2-ol

Answer: D

[ &


https://dl.doubtnut.com/l/_ANYSznEQX0FQ
https://dl.doubtnut.com/l/_GelD02xoWE4A

| @ Watch Video Solution |

10. Which one of the following alcohols undergoes acid-catalysed
dehydration to alkenes most readily ?

A (CH;),CHCH,OH

B.(CH;3);COH

C.CH3;CHOHCH;,

D. CHy;CH,CH,OH

Answer: B

o Watch Video Solution

11. Which of the following alcohols gives the best yield to dialkyl ether on

being heated with a trace of sulphuric acid ?

A. Pentan-1-


https://dl.doubtnut.com/l/_GelD02xoWE4A
https://dl.doubtnut.com/l/_yUWoTx9TwMez
https://dl.doubtnut.com/l/_A89ar8lf8AvC

B. Pentan-2-ol

C. 2-Methylbutan-2-ol

D. Propan-2-ol

Answer: A

o View Text Solution

12. Phenoxide ion is more stable than phenol due to the

A. resonating structure of benzene ring
B. delocalisation of positive charge in phenoxide ion

C. delocalisation of negative charge in phenoxide ion

D. all of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_A89ar8lf8AvC
https://dl.doubtnut.com/l/_PkVVrLa4Zkyl

13. Attacking species in bromination of phenol is

A B’I"2
B.Br™
C.Br*

D.Br—

Answer: B

o Watch Video Solution

14. Oxidation of by chromic acid yields benzoquinone.

A.benzene
B. phenol
C. benzaldehyde

D. benzoic acid


https://dl.doubtnut.com/l/_XHosUMJGiGqs
https://dl.doubtnut.com/l/_uiLaI3zlVqpI

Answer: B

o Watch Video Solution

15. Four organic compound have functional group as shown below :

| |
A: —(|;'—OH,B: — CH,0OH, C: —|C'HOH,D:06H5 — OH

The purple colouration of neutral FeCls will be given by .

A.Aand B
B.Aand C
C.onlyD

D. all of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uiLaI3zlVqpI
https://dl.doubtnut.com/l/_KU9mjgCVva7F

16. The conversion of m-nitrophenol to resorcinol inivolves respectively:

A. hydrolysis , diazotization and reduction

B. diazotization , reduction and hydrolysis

C. hydrolysis, reduction and diazotization

D. reduction , diazotization and hydrolysis

Answer: D

o Watch Video Solution

17. The correct order of acid strength of the following substituted phenol

in water at 28°Cis :

A. p-nitrophenol < p-fluorophenol < p-chlorophenol

B. p-chlorophenol < p-fluorophenol < p-nitrophenol

C. p-fluorophenol < p-chlorophenol < p-nitrophenol


https://dl.doubtnut.com/l/_0kGqwfHcnGZr
https://dl.doubtnut.com/l/_1QlM0JZTvnCV

D. p-fluorophenol < p-nitrophenol < p-chlorophenol

Answer: C

o Watch Video Solution

18. In the presence of alumina as catalyst , two alcohol molecules will

undergo dehydration and form

A. ester

B. ether

C. anhydride

D. aldehyde

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1QlM0JZTvnCV
https://dl.doubtnut.com/l/_9f6OLnIq8KTh

19. An ether is obtained when phenol reacts with

A (CH3);CCl/HF
B. acetic anhydride /CH3;COONa
C.NaOH and CsHs1

D. C, H;COCI ] AlCL,

Answer: C

o Watch Video Solution

20. Methoxymethane is obtained from

A. methyl iodide and diazomethane

B. chloromethane and sodium ethoxide

C.diazomethane and ethanol

D. diazomethane and methanol


https://dl.doubtnut.com/l/_shiZPycwQqv9
https://dl.doubtnut.com/l/_xctYluJ00Kv7

Answer: D

° Watch Video Solution

21. Which reagent is used to get only iodoethane from diethyl ether ?

A.CH,N,
B.dil. H,50,
C. Cold HI

D. Hot HI

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xctYluJ00Kv7
https://dl.doubtnut.com/l/_mS4xlLAYeYhD

